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 ��	�� �
�
�� 
����� ������ ��� ���	��� ����� ����� ������� !"# ����(PSK)�� ��$%��&  ���'* +,- .����� /��
 �0��1�$02HF . 45,�� 6 ��1�,�1 2��6 71 ���	��� �89�� 3 200 :� bit/s 12 800.  

  

;�8�<�=� >&9�� 2�?=� �0�02���� �8�<�8� ���@ A�  

 �������� � 	
� �
  

� (    A� B�90���1 B�C,D E�'#FGH��1 �9�I ���	��� ����� +,-  

J(  ����� 7$K L�� MN����� ������ ��12�1 ���O& ;�P�Q� !"# ��C,�� ��	�� �
�
�� 
����� ��12�1 71 R	S ��
FT9�
& ��-�U �,1�
 �P�1 ������ ��� >����� ������ ��12�1& ���'V�� 29��1 ����<�� ��22����� 
����� ������ ���  

 W(  �8�� ;������ X���� ��C,��� ��YZ� [0��� 7$K L����12��� 71 R	�'�� \] ���U ������� ���'V���� �����:  

_   9�
��� `��a� 
�	'��� bC�� c�d 6 �I W&2��� /�'���� ��e%�,� �H,�f g�����(SSB) 
�	'��� bC�� &� �<H'�� 
 �V���� `��a�(ISB)F  

_  A���*�Fh*��� �0"%� G1 i�	Oj� k�5<� lH%�& �	m� 7- n%$��   

_  �1 �9�1FT�'V�� ��� G1 o��'�� n��$� �P� 71 le�1 ���	  

 ������ ��12�� �C�'���&MN�����XVU :  

_  F
�	'�� 6 ��22���� /�'�� �H,�f ��0���1 �������  

_  ;T�1��� �O�� h*& !�%�& T29��1 ��l�I ��%��8� [0���� ����j� R� ����Q� h*& ��O2�  

  ����  

1  ���� o��'�� ������� ��pH�� 45,�� 6 LH�& 2�1 :� �<� ��'�'Y� �89�I ���	��� ����� bit/s 2 400 
 �������� ����� 22���� q��V�� ������ 29��(FDM) �
�
�� 
����� �����&  ��	��(PSK)F  

2   45,�� 6 2����� o��'�� ��������2 :� �<� ��'�'Y� �89�I ���	��� ����� 9'- bit/s 3 600 ��������  ��12�1
F>����� +,- ������  

3   45,�� :� /�P��� T�&�p�3��� ��U�r� ��1�,�1 +,- ��<5,� q���� ��	�� �
�
�� 
������ 4,F  

sssssssssss  
*    �������� �	
 ���	� 
� ������� ��� ����� �� ���	�8����!���� �"�#�$� .  
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4  45,�� :� /�P����4J�,�j� ��-�'� ����� n<0 M"�� / ����j� i�2� R�5�� J�	V��8�HF PSKF  

5   45,�� 6 2����� o��'�� ��������5� �����  :� �<� ��'�'Y� �89�I ���	��bit/s 4 800 �������� ��12�1 
��,����� ������F  

6   45,�� 6 2����� �pH�� o��'�� \u�<O ��������6 71 v&���� ��'�'Y� �89�I ���	��� ����� 3 200 :� 
bit/s 12 800��,����� ������ ��12�1 �	���� .  

  

  

  

 "#$
�1  

�	% ����	
� ����
 �bit/s 75/150/300/600/1 200/2 400 ����& '$( HF  
����� ������ ������� ���)*�� &�	�+ ,�-�� &&����� ������ ��	��� PSK 

  

1  ������ ��	  

1.1  ��CV��� w��	1 A�$�0/ o��'�� �����x.,0 �:  

_   ���*� ��1�,�1 �CV��1& ���1)J���Q� �y1(F  

_   �0�? �����j� L�H�z& A�$� o2�1 ;M�02�� ���1 �O2 qu=0 �$%� ��,Y�{ ��1�,�1 :� ���*��� ��1�,���
.�*��� �CV���� �O2 qu=� ���*� ��1�,�1 :� M�02�� �CV��1 W�O 9'- ��,Y����� ��1�,��� �0�?&.  

  F/�'��� X,O M�|& �H,�f lH%� nu�z& o2��� �"# B�p0� M2}0&  

_   ��CV��8�& ����~� ����RF ���1 ���u���.  

2.1   +,-������ g��P; �9�I T2����� ���	��� 4U9� bC0 bit/s 2 400MN����� :� >����� 71 ���5I  . ����H�&
32  ���) �� M�ms 13,33 (� N��P :� MN������ ����� �"# ���� ���0 �$%I B=��1 LP�O A�$0 T���"QPSK.  

�C��1 ���� T���� ������ 6 o2��� 9��0 71 n���� 18 
�	'�� 6 ��e� Hz 3 000-300.  

 9-�C� A�$0&16 ���e'�� !"# 71 ��e� Hz 110) 935 :� Hz 2 585 ( J�,��� �$%�&DE-QPSK)  G����� ��$%���
.,r�H� lH%�� ��	�� ( ��'1 �$�&Bd 75 �,C0 .u�'Y �9�I k��0 �x bit/s 2 400 = 2 × 75 × 16.  

 ������& 9'- ��e'��Hz 605  k�5<��22���� i�	O��,�&2 lY�� c�d .sU �I w�D :� w�D 71  .&��e'�� ������ 9'- 
Hz 2 915)  &�Hz 825 (o��'�� �'1���.  

 ��	V��� &� M22�� &� ��$1 /�'�� ���,�e%� A�$0 R,CV��1 71 �1� �O2 ������ �CV0 A� W&2��� /�'��� X,�� 7$K&
J�,��� �e%0 9
�& �CV��1 71 �1�& ISB.  
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�	'��� /�'�,� �H,�f ��C���� 4�C	� 7$K ;������ �-��� B��-�U B�H-�p1 ���C�� �9�1 A�$0 �19'-& . 4V� ;��y��&
���	��� �9�1 bit/s 1 200 B�P&2�1 B�-�'� (1 200 × 2)  ���	��� �9�1 4V�&bit/s 600 B��-��� B�-�'� (600 × 4)�"$#& ; 

����� �-��� ����@& bit/s 2 400 .&
�	'�� �O�2 /�'��� 71 �9* +<*� ������� 7$K �"$#; �,V��1 ���'* R� ���U& 
������ ���	��� �9�� B�VU& . �89��� 4�C	� 7$K&bit/s 1 200/600/300/150/75.  

 &� lH%�� ��e%��� ����O� g��P :�&=��� �"� 7$K ;/�'��� J�,��& le��� ���	��� �9�1 lH%�  ����U ����O� B�p0� o2�
 �&9a� 6 L<��,� 2�0 ��� A�1 �8�<�� o��� �������� k��0 �x �0"%���1.  

 ��91 ����� 71 ������ T���� A�$��&ms 13,33 . ���
 h*& T9�� !"# 7�p��&(ms 4,2) ��%��8� ��Y� [0���� 
T29��1 ��l�I.  

����� ��	�� 71 95,� R��'V� o2��� �����0&gC�� ���O Tq��'�� �Cm�& ��pC'�� i�r�p�� :  

_  F�	m� k�5<� T�H�  

_  h*��� �0"%�.  

 71 XS �����0�9H�� ���H� �0�&9�� (16,8) BCH . T�H� ���,� A��&BCH i�'Y� ���=���� 7$K b�� T���d 6 
�0"%��� ��,�- .������� ���'��� T�-��I �0"%��� q�0&:  

_  � ��,� �OZ ��� �&�;��'0��   

_   ��� ��Y" ��,$,�(m)��'0�� 4C� ��� ";  

_   ��� b��Y" ��,$,�(2 m)��'0�� 4C� ��� ";  

_   T�%- ��2���� ��C��" ��,$,�(15 m)��'0�� 4C� ��� ."  

  

 �&9a�1  

������/ ���
��� �����)��	������ ������ ������ ����� ���! "� #$% &��(  

  g�����cH�lH%���  lH%���� g����� 

���	��� �9�1 
(bit/s) 

/�'���� g�����  h*��� �0"%� 

h*��� 909{������  

6�r� /�'�� g����� 

 
�	'�� 6T�'* /��� )�CV����& �����( 
(s) 


�	'�� 6T�'* /��� 

2 400 – 2 × 2 ×     

1 200 2 × 2 × 4 ×  12,8-0 – 2 × 2 × 

600 4 × 2 × 8 × 25,6-0 2 × 2 × 4 × 

300 8 × 2 × 16 × 51,2-0 4 × 2 × 8 × 

150 16 × 2 × 32 × 102,5-0 8 × 2 × 16 × 

75    205-0 16 × 2 × 32 × 
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 ����O� 7$K& �0�� �0"%���) T�H%�� ���,�m (M�02���� l��,� ��%��8� w&�z g�
 R� 0) 8�0"%�  (&1& 2& 4& 8 
&16& 32 &� 64��8 T91 G1 4H�0 �I ���y�� ���%-& A��y�,1 T9- R� v&���� ���	��� ��CV . 8 ��D�m� ���C�� A� �I&

 ;T�H%�� ��,$�� �H� :� .��'�i�	Oj� oN� 71 �pU� �0�� 4V?.  

 �$%�� 6 2�0&1 .��� i�r�r 2�P& 6 o2��� i�2�  �-N�1 ����
� M����C�� 6 �	m� (Pe )�C�'� ���9�  :� T����� 
�r�p��i S/N &� lH%��� ��,�� 71 �� 6  8 R� v&���0 
�	� ��- 6 lH%�250 &Hz 3 000.  

H��� 9'- ��� lH%��� lY�� kC<0&i�r�p�� :� T����� �C�� q�* /� S/N.  

��<�� 22���� ���e� W���� M��C�O� X�'� o2��� �0"e� � b�
 �0��C�O� ���� 2�9-�� ���'5'�� :� ������ �& . n�r�&
��C�O8� XS LP�O 71 \,���� �O� o2�1 ��CV��� �O2 9'- LV�C	�& L5�� �& .��e�� i�r�p�� :� o2��� W�O . �&

���C�� i�	O� �C�� 909? 7$K �
 ��C�O8� X�'� ���	��� i�	O� �,� �0"e� c�d 9��.  

 �$%�� RC0&2�C  T�'* 6 o2��� i�2j ������
 T���� ¡u��� .  

 T29��1 ��l�I ��%��� T9I �,<H'1 ������ ����� /���8� �H'� A�l�I � b�
 �C  T�'* T���� �ms 1 w=�O�� 
 22����Hz 1����Y ��22�� 9'- n*��0 8 L,� ������ 
�	'��� �CO +,- ��<Q� ��e� .  

 �$%�� 71 kp�0&2�� �H,���� ��Sj� 71 X�,O �������� 7�5�0 i�2j� A�  /�'��� ���'V)LP��O& 
�	'�� �O�2 ( lH%�&
 �89�� �0"%���& i�	Oj� k�5<�600& 1 200& bit/s 2 400.  

C0�� ���� +,- B����
 o2��� �����0&s +,- ���'P& ����	0� X��� �02�� �	� R� �0��1�$09�� ��P��� �=�& 6 .
 >��
 �U��1km 800) 500��1 .(  

3.1  V0 ;������ 9'-& ���� o�RF 22����& T�9V,� �C��'1 \u�<  B8���� ¡�'0& ���'V�� ��$%�� �V,���� ���,����� 
M�02���� . �C���� ��<�� 22���� T���� +,- ��<Q� �P� 71 ��CV��8� 9'- 22���� �0�5�� �V,���� ���$��� ���,���� M��&

o2��� :� �¢���� J�,	��.  

 ���£��&RF T29� \u�<O .#:  

_  ��	�� ¤����� : 71 �*�°5 T9� ms 10 ¥1��� ���H�� 71 )100�'�- (F  

_  T�1��� �O�� !�%� :µs 500 ;������ 9'- µs 500F��CV��8� 9'-   

_  ¥�C�� ��$%��� :dB 36T�9* h? w=� T&�"�� .  
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 �$%��1  

 �	�'�� ����� ���	�� * +
,� ��-�.�S/N� ������� �0��1 ���� ����� 203��  
4��5 6�7�8� 9�	: "��� ��'�� ;�
'�� * <�'����� 203��� =�> ��  

  

������� �	 
���
� ����(dB) S/N

 �
���

�� 
�

 �
	


� �
��

�

�

(P
e
 
)

����  
����  

����� 
����� ����  
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 �$%��2  

 �	�'�� ����� ���	�� * +
,� �	�?S/N 4@���?� �	A ��'��  ��-��������� �����  
600� 1 200� bit/s 2 400������� ���B� *   

  
  

������� �	 
���
� ����(dB) S/N

 �
���

�� 
�

 �
	


� �
��

�

�

(P
e
)

A :���� ���� 
B :!"# $�%��� &��'  
C :()��'� ������ $�%� *'�+  
D :�������� ��%',� -./0� ���� 1�23�4�� ()��'� ������ $�%� *'�+  
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 "#$
�2  

 .
 �-� �/�	% ����	
� ����
3 600 bit/s�$+�	�� ������� '$(   
 �0��+��0��� ��1�
��(HF)2����� '$( ����
 3&�+ ���	����   

1  ���> ����	�>�  

 T�'* 6 ���	��� ����� o2��� k��03 HF kHz .�I ��'0�$� 9��0& ���*��� ���	��� �CV��0 �#& �9≥ 3 600 bit/s 9��0& 
 ��,Y�{ T����AF .����� 
�	'�� �O�2 3 300-300 Hz.  

�Cm�& �,�&2 �Y�& ��l��� 29�� 71 �0��Q� 7�p�0 �#&.  

2  =C��� D�E3F ������  

��e%�,� �,��� g����� �Y=Y 9P��.  

1.2   G�H���� I����FECJ�CK�� L�?   

1.1.2  ���~� B=�$%� J�,�j� �"# �����0 
MPSK (M=2,4,8) �9�I 2 400 Bd ������,� ���� �9�I& ;75 &� 
150 &� 300 &� 600 &� 1 200 &� 2 400 &� 3 600 bit/s) ��P��� ��$�� �� G1 ���C�� �89�1 G�@ �U��� 8( ������& ;

 ��d256 B=$%1 B��1� )128������,� N�1��� !"# 71 B��1� ( M� ;106,6 ms.  

2.1.2  2�C� A�$�0 .# ���D� �Y=Y 71 ���	��� �9������������ �0�¦& ���Q�& :  

 �$%��3  

 G�H���� I���+� ���F� L��FEC  

������ �0�¦   ���
)���	���(  9��{  

03-0763 

  

 ��D 7$K9��{ ��'V��� ���,��� ��CV���& i�9'�� n%� 71 J�,	�� o2��� )��$%��� ;���	��� �9�1 ;�0"%��� ;lH%���( 
������ ��VC� L1�,0 M"�� .����� ��� ���	��� +,- ���Q� ��D ���%0& . 71 J�,	�� o2��� ������ �0�¦ ��D 7$K&

���5,� 2�9���8� :� T2����& �,���� i�¦� ��e� ����� �0�¦ 6 ��,$�� 7- n%$��.  

�-����� Gr& ����� g��	�� o2��� ���0 �19'- ������ �0�¦ �Y��� .� ����� ����j� !"# 4��	9������ +,- ���%� ��'$�& ;
�H���� Gr& ��1�,�1 7�p�� ���.  

3.1.2  .# T�U��� nu�z���:  

_  ����:  
_  F���	��� �0"%�& lH%�  
_  F��$%���& �������  
_   T���� �����AF.  

_  �����	
�:  
_   T���� ��CV���AFF  
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_  F71����� n%�  
_  �,CV���� T����� ��$%� ���N�F  
_  ���	��� lH%�& �0"%� cU.  

2.2   G�H���� I����FECJ��CM�� D��N   

 k�5<��� XS 71 R�,V��1 R�,�& J�,�j� �"# �2��0FECW&2��� n<�  .���0 9��{ !��� �� 6 !�,�0 ���	��� 
J�,	�� o2��� q��,- w���0& ������� �0�¦ ��,�& . k�5<��� J�,�j �C�'��� ��Q��&FEC<�  ;W&2��� n29�"# � 

9������������� ��'V��� ���,��� .  

3.2  I����O� ��
�� ���P$��� Q���F (ARQ)  

1.3.2   
���~� B=�$%� J�,�j� �"# �����0MPSK) M=2; 4;8 ( �9�I 2 400 Bd ������,� ���� �9�I& ;600 
 &�1 200 &� 1 800 &� 2 400 bit/s)  ���C�� �89�1 G�@ �U��� 8��P��� ��$�� �� G1( ��d ������& ;256 B��1� 

 B=$%1)128������,� N�1��� !"# 71 B��1� ( M� ;106,6 ms.  

2.3.2   J�,��ARQ ���$� +,- ���%0 ���	�1 ����� J�,�� �# .u�V���T�9H���  . :� ����~� ���	��� q�V�
o2��� ��� 4��	� ���9U .$1 B�0���Y B=�� g��	�� o2��� ���0 71 B���N T�9U ) ���* M&���N ���8� 64 A�$� 9* ��'$�& 

TlOj� ���	��� ����� �=O c�d 71 �*� (L1=���� J�,	�� o2��� ����� ���'0&.  

T909P ���9U 71 A�$�� >���� M���y�� ����� 6 �¢���� 2��0 ;�5�5� �V0�	� ���9H�� 71 M� �CV��� ¨ �d�.  

# 6 T2�P��� ���Dj� i�9'�� �1�*� ��D .# J�,�j� �")�������( ������ �0�¦ ��D& ;���	��� ����� ��D& ;) cU
������� .( J�,�� k��0 ;c�"�ARQg��	�� w�	�� �09C�& ;h*}�� ������� cU / T�9V��& ;4U9��� 6 q$5���& ;J�,	��

22���� 6 q$5���& ;���	��� �9�1& ;��H�$���.  

 �$%��4  

� ���F� L�� I���+ARQ  

  
  

 J�,�� ���%0 �"�ARQ ������ ��D �©& ;70����1 70��D +,- ) �����& ;g��	�� w�	�� 9'- M���Y ��� �����
J�,	�� w�	�� 9'- o=��8��( ��CV��8� ��D& ;) w�	�� 9'- M���Y ���& ;g��	�� w�	�� 9'- o=��8�� ����� ��CV���

�J�,	�.(  

3.3.2  40��$F R$S  

1.3.3.2   J�,�� k��0ARQ22���� 6 q$5���& ���	��� �9�1& ;��H��$��� T�9V��  . �H<� c�d 7�r o2��� �090 8&
.H��$��� ���	��� �9�1 ��� �,1�� . L� o��V�� gP���� n��$���� o��'�� :� o2��� l%0 ;T�9V�� 6 q$5�,� �C�'���&

ACK* :56�47�� ��3�	 

  89;     89;  
  *.<���� =# >���? *��n   >���? *��1  *.<����  

 *.<���� =#  .<��*  
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���� 6 ����0& o��'�� :� T����� 9�� B��*}1 L,���� o2��� cH0 ;22���� 6 q$5�,� �C�'��� �1� ;��T�&�p� +,- ��y��� 
909P 22��.  

2.3.3.2  �,���� ��-�'� ��u�<
� �����* +,- T�9V�� 6 .H��$��� q$5��� i��P� o�V0 . ��H��$��� T�9V�� 6 T2�0��� N�?&
 ��Hª� g,	�0 ��'�� ;TlC� �-���TlC� ��'1N T91 h��Y T�9V��.  

3.3.3.2  �89�1 ����� R� 71 T���f �89�1 �Y=Y +,- .H��$��� ���	��� �9�1 6 q$5��� ��| .#& T�U��1 
2 400& ;1 800; &1 200 ;600 bit/s.  

8� 9���0 ��'�� ;�,���� ��-�'� ��u�<
� �����* +,- ���	��� �89�1 6 ��H��$��� ��2�0��� 9���� +,- i��� ��Hª
������ �=O o=��8�� �������� &� ���	��� ��CV��� o9- +,- &� ;�,���� ��-�'� ��u�<
�� �����V��.  

4.3.3.2   q$5��� "�H'� o��'�� 71 g,	0 ;������ w�'���8 B��U�� ���	��� �9�1 ��Hª8 .H��$��� q$5��� 7$0 ¨ �d�
22���� 6 .H��$���.  

 o2��� cH09�� ���� ¨ ��� ���	��� 70�� G1 ������ w�'���� ���'0 « ;909P 22�� 7- b5C�� �
��� L,����.  

5.3.3.2   J�,��� o2��� ��$%� 7$KARQ b��.H��$��� ���	��� �9�1 6 q$5��� "H'0 8  . 8 "u9'-&�Y��0 ��� 
T�9V�� 6 q$5���& 22����.  

4.3.2  .# T�U��� nu�z���:  

�  	�
������ ����� ��� ��� �� ��:  

_  ;���	��� G�	V�  
_  ;���	��� lH%�  
_  ;��$%���& �������  
_   T���� �����AF.  

�  ������ ����� ��� ��� �� ��	�
:  

_  ;o=��8�� �������� lH%�  
_  ;��$%���& �������  
_   T���� �����AF.  

�  ������ ����� ��� ��� �� �����	�:  

_   T���� ��CV���AF;  
_  ;71����� 7- n%$��  
_  ;�,CV���� T����� ��$%� ���N�  
_  o=��8�� �������� lH%� cU.  

�  ������ ����� ��� ��� �� �����	�:  

_   T���� ��CV���AF;  
_  ;71����� w�%���  
_  ;�,CV���� T����� ��$%� ���N�  
_  ;���	��� lH%� cU  
_  ���	��� G��� T2�-�.  
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3  
����� 
����������� �  

1.3  D�$3���  

1.1.3   !�9* 22��� ��-�U �,1�
 �P�1 ��D �
�
N 71 ��$%��� ��'V� A�$��Hz 1 800 . ��$%��� �9�1 �,C0Bd 2 400 
 !�9* �*9�� 71 ¬2� 9�5-

10.  

2.1.3   9���� g
�<01 800 Hz !�9* ����V��,� ���V��� 5-
10.  

3.1.3   �,$%�� T����� ��D �
�
�� A�$0 A� 7$K������� q�V�� �9
� �,$%�� l� ���P��� ��-�H�� �P��� :� �C�'���: 
  

�1��� q*� ��	�� 

0 0 

1 π/4 

2 π/2 

3 3π/4 

4 π 

5 5π/4 

6 3π/2 

7 7π/4 

 �1��� q*� g
�<0n 9V��� q*��� (jnπ/4). 
  

 �$%��5  

��
�� ���. D�E3F  

  
  

2.3  �P03�� DT�S  

��'�'Y8� o�*�j� 71 �-��� ��l� M"�� �1��� ���U g
�<0 ��,�- T�H%�� �0�?.  

@A���1

@A���2

@A���0

@A���7

@A���6

 @A���3 

 @A���4 

 @A���5 
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1.2.3   U��V ���
�� ����1 200 bit/s :2-PSK 

������� T9-�V,� B�VU& ¥�'Y� q*� G1 �1� g
�<� �	���� T�H%�� �0�? M�|:  

  
�1���  ��C��  
0  0  
4  1  

  

2.2.3   U��V ���
�� ����2 400 bit/s :4-PSK  

������� T9-�V,� B�VU& R�����1 R�'�'Y� R�*� 71 ���$1 �-��� G1 �1� g
�<� �	���� T�H%�� �0�? M�|:  

 

�P&2��� ��C��  �1��� 

0 0 0 

0 1 2 

1 0 6 

 

1 1
 

4 

     

��� o9*�  ��� ­9
�  

 

3.2.3   U��V ���
�� ����3 600 bit/s :8-PSK  

? M�|������� T9-�V,� B�VU& ������1 ��'�'Y� o�*�� �Y=Y 71 ���$1 �-��� G1 �1� g
�<� �	���� T�H%�� �0�:  

  
�1���  ��Y=y�� ��C�� 

0 0 0 1 

0 0 1 0 

0 1 0 2 

0 1 1 3 

1 0 0 6 

1 0 1 7 

1 1 0 5 

  

 

1 1 1
 

4 

     

��� o9*�  ��� ­9
�  
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3.3  DFP�� ��'�  

1.3.3  � �¢�D T��$�1 ����� 6 ����� ��� N�1��� ��'� A�$106,6 ms . ��� �� 6 �,���� ��'�'Y8� o�*�j� 29- �,C0&
128 9'- ��� 1 200 bit/s& 256 bit/s& 2 400 bit/s& ;384 9'- ��� 3 600 bit/s.  

2.3.3   71 ����� A�$�0256>���� q��V���� B��1�  :80& ;71���,� B��1� 48 B��1�  ;B���P�1&128���	��,� B��1� .  

 �$%�� �yK6����� ��'� .  

3.3.3   !�9* ��$%� �9�I& ;��	�� W&2�1 ��$%���� 71����� G���� ���02 400 Bd . 7- n%$,� o2��� L,����0&
�P���& ����~� �,1�Q� �P��� R� w=�O8� 71 &� �,�&2 �Y� 71 i��� 22���� �
�
N k�5<��& T����� 2�P& �,1�Q� 

 �0��1�$09�� ��P���� T�'V�� q��V� &� ;M���$��� k������� �0����� ���
 6 �0����� 71N i���& ��C�� 71���& ;��CV��=�(HF) 
+<*j� L��%��� �V0�	� w�%��8� ���
 6.  

 �$%��6  

DFP�� ��'� 

  

0763-06

80 8032323232 16 16 16

  
  

4.3.3  �1�& ���P��� N�1��� 9P�� 71 ��'1 ���9U ­=Y �&� A�$�� ;���9U G��� 71 ��'� 6 ���	��� N32 B��1� 
 q�CV�0 ���	��,�16 7�p�� T�9U �O� G1 ;B���P�1 B��1� 32���	��,� B��1�  . �1��� q*� ���P��� N�1��� G�@ 4��	�&0.  

 �#29-& ���	��� N�1�& ���P��� N�1��� !"# X,�176� G���� �	���� B��1�  71 A�$�0 X�,176 �� B���$1 B��1� 
ms 106,6 .6 G������ �"# ���0& 8��	�� ��$%�� �8�
  8-PSK �9�I 2 400 Bd . Md ��� i�%�� 7$K �"�8 �8�
 

 ;��	,�A�� B�0� ���	��� �9�1 )1 200 bit/s &� ;2 400 bit/s &� ;3 600 bit/s.(  

 ��V�� �U�r� .# X�,���� ��,�-8�1��� q*��  ��,�- :� M2}0 �x ;X�,��,� g
�<�� �1��� q*� :� ���	��,� g
�<�� 
X�,���� �1� 6 ���	��� �1�� T9V�1 J�r.  

T = 106,6 ms

  BA�@�  C�.%3A D3)�A C�.%3A D3)�A C�.%3A D3)�A  C�.%3A  BA�@�  

   
��#4   
��#3   
��#2   
��#1  

176@A� !.9E��� F�A� BA G�  
8-PSK 
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4.3  PTX3��� 9+
,� G�H��� 203���  

���C�� 6 �	m� �C�� 6 ®�5,1 7�? :� g��'�� �0"%��� G1 �	m� k�5<�� lH%��� ������� M2}0 A� 7$K (BER).  

,- 7$K������� �Y=y�� �����j� g����j� ���� +;  
_  3 600 bit/s 8-PSK;  
_  2 400 bit/s 4-PSK;  
_  1 200 bit/s 2-PSK;  

J�'D~� �����$1� T9- lH%��� k��0 A�.  

1.4.3   G�H���� I����FEC 

c�"� .H�U=��� �0"%��� G1 .H�U=��� lH%��� ������� +,- J�,�j� �"# ���%0 .� T�H%�� A�$�& .# �,������ ��H�U=��
 J�'D�� T�H�2 +<*� ��D G1 7 = K \u�<O �02&9
 �C
�<I ;171,133) ��¯ ��y{.(  

 71 ¬2� J�'D� +,- ��<Q� 7$K2 71 +,-� J�'D� +,- ��<Q� 7$K ��'�� ;
�m� 40�	� 2���$���� .  

.,0 �1 �8���
8� R� 71 ��"�: 
  

G1 ���	��� �9�1 

lH%��� (bit/s) 

�P��� �$� J�'D�� ���	��,� �9��� �"# :� ������ �V0�D 

2 400 8-PSK 3/2  ���	��� �9�1 �0�?1/2 �9��� :� 2/3 

1 200 4-PSK 2  ���	��� �9�1 9'- ��9�1 l� T�H�1/2 

600 2-PSK 2  ���	��� �9�1 9'- ��9�1 l� T�H�1/2 

300 2-PSK 4  ���	��� �9�1 9'- T�H%��1/2R��1 T��$1  

150 2-PSK 8  ���	��� �9�1 9'- T�H%��1/2 T��$1 4���1  

75 2-PSK 16  ���	��� �9�1 9'- T�H%��1/2 T��$1 8���1  

2.4.3   I����ARQ 

90� lH%� �����0 _A�1���1�0"%� 9P�0 8& ;. 
  

���	��� �9�1 

lH%��� G1 

(bit/s) 

 

�P��� �$� 

 

J�'D�� 

lH%��� 

)71 N�1�8 ���� ( 

2 400 8-PSK 3/2 RS (48,32) 

1 800 4-PSK 4/3 RS (32,24) 

1 200 4-PSK 2 RS (32,16) 

600 4-PSK 4 RS (32,8) 
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5.3  ��$3�� ���YZ� L�[  

 �#�9* �,*�'1& k������ 9�� �,$%�� T����� n�D 2�01 800 Hz �$%�� 6 7 . .,$�� 
�	'�� ��- M&��0&3 000 Hz.  

6.3  G������ \����B� \�]��� \� ��CCP��� 6�
:� * HF��	������ ������   

 �#�9* �
�
N 6 k1����� o2��� G�	��0 A� .eC'0± 75 Hz R�,1�Q� R�P��� R� HF ��CV��8�& ����~� ) c�d 6 �I
����� 22�� 6 �	m�/�,�&2 �
�
N& �CV���� ( !�9* 22���� 6 le� �9�1&3,5 Hz/s,-  +�09V� +<*�.  

4  ���� ���
�� �� �
�
!�� "�#$��  

1.4  ���
��� ^�P
� _� =C�-�� `�	�� G
���  

 /�	* ����� G1 +����0�8�<�8� ���V� q*� V.24 /�	* ����� G1 4U���� ¥�C�� k	�,� ��u����$�� \u�<m� A� �I ;
 �8�<�8� ���V� q*�V.11 (RS 422).  

2.4  � =C�-�� `�	�� G
���D	������ D�P�� _  

 �#�9* �*&��1 G1 ;��j� G1 �z�'��� X�'�� 71 o2��,� W�m�& �O9�� ����2600 Ω 9'- 0 dBm.  

  

 �$%��7  

��$3�� ���YZ� L�[  

0763-07

10

0

– 10

– 20

– 30

0 600 1 200 1 800 2 400 3 000 3 600 4 200

(d
B
)

  
++����(Hz)
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3.4  �	.����� �a	������ �a�P�� 6�C� ��>�?  

CV����& �=���,� ������� \u�<m�� +��0�y1j� i�2j� +,- ��<5,� �=:  

1.3.4   �9��� ������ 6 T���  k��0 8 �0�{ 
�	� �¢ A�$0 A� .eC'0± 2 dB R� �1 le�� �C�'��� 300 Hz :� 
3 300 Hz.  

 ������1 � �� ���� ��	
�� 
��� ��� �� ������ ��� ���� ����� ��! 300 Hz "# 3 000 Hz$%&
� '��( ��  .� �)�*+ �� �*),
 -�/ 0���1 0���2 03�4 ������ ��� ���� 5�67�� 08�����1 650 Hz09%&,� -����
�� �+�� -�/ 06	�:� �� ���� ;.  

2.3.4   71 �y��� T�1��� ��%��� �,�1 le�� 8� .eC'00,5 ms +,- %80�0���,� 
�	'�� �"# 71 .  

3.3.4  ��& ����,� �,��9�� ��22���� �*2 A�$� A� .eC'0 �CV��6-
109
 ¬2� +,- .  

4.3.4   T��9,� ¥1��� h��y�� A�$0 A� .eC'0AGC 71 �*� 10 ms 71 �*�& �����Q� ���N� 25 ms�����Q� T2�-� .  

 

  

 

 

 "#$
�3  

 ����� ������ ������ ��	��� 4�� ������ ��56!(PSK)  

1  ��%��  

 ���'* 6 T2�- ��1�,��� ����HF �9�I ���� N&�£�0 bit/s 200�C��1 �������& �8�Q� 29�� g����� ��������  .
 �
�
�� T91����� ��-�H�� �=1�Q� 71 �-��� ��e%� +,- �"# ������ J�,�� T2�- 9'��0&��	�� PSK���Q� .u�'Y  .

 ��$%�� L��� ������ 7$K M"�� ���C�� �9�1 n�r :� ������ ��'V��� !"� 7$K&FSK7$K& 
�	'�� �H'�   �������
���<Q� T2�0�� J�'D��71 i�r�p��  .
����� g��P :�& ��	�� �
�
�� PSK ��$%�,� �O� XS 9P�0 ;��22�� T9- +,- 

��,�- ��©� L�& B�-��� �y�� _ q���� 
����� PSK R��Z� 70��	�� R� 
�H�� 6 �¢���� J�,	�� �1�,��� A�$� 8 b�
 
�& ��C�a� �P��� �������C��1 T91���1 ������ ���D� w��D� R� 
�H�� 6 7$ . ������� !"# /���� w��D� w2�<��&

 T�'V�� 22�� ����  ��H��$� 7$K&)�O�9��� n�D &� (�2�C��� 91����� w&�z +,- c�d �Y}0 A� A&2 . ���j� �"# +,-&
�9*& i�r�p�� 9r ��� ���<� q��0 .H��$� o2�1 q��<� 6 ��'�� 7$K���Q� l��� +,- ��� T.  

 q���� 
���~� .,���� 4�C	��� LP�& .r��� 6PSKT9V�1 ������ �a��1& g����� �V,���� �09�,V��� ���%��  . �
 7$1�&
 7$1� 9VU GH��1 �1�$� ����I �0�e� ���&��$�� �C��1 G	* �����& T909a� g������ �0��� �pH� �����j� ���%��

� �CV- N&������9,� 9V��� ¥H�� g����� . 45,�� �"# 6 2�0&�� °2�C q$? ��� ����u��� q��1 
����� o2��� q��<�PSK 
L�,- 4C	�� ��C�O8� ¡u���& q��<��� ��S� 71 X�'� ��- c�"�&.  
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2  �&��' (��$�  

1.2  ����YZ� 6���?�  

 A���� hCY� ���)Shannon(���� �9�1 +,- ��<Q� 90�� �d�U ; 22�� ����  ���'V�� ��<�� ��� M&��0 �Y (ω) 
 .��� i�r�r&N (ω) T�9V� ����� ��,��� q��� ������ ������� .eC'0 ;P n�D 7- lC���� 7$K b�
 ����1 o��'� 

������� �e�<��� T�9V��:  

(1) 








Ω∉ω

Ω∈ω
ω
ω−=ω

:0

:
)(

)(

)( N

Y
B

F  

 �1�$��� �91 29� b�
Ω ��%��� F(ω) ≥ 0 ����y�� ���V�� n*���& B������� T�9* +,-  . B��,�- ���CV�� 2&9Q� A� �I&
�#29- c�"�& �����~� ��<V�� T9�� 909? .eC'�U ;T29� ��0�V� Gp� �1�,��� ����� �O��� . w&���� !"# �y1 6&

* �H'� ��H�	�� �U�y$�� Wd�S �����1 A�$� b�
 �'��1 T91���1 ������ T2&9� 2���j ��C���� E�'# A�U ���F(ω) ���& 
+,y�� w&���� 71 J��V� �¦� ���0 . ��2���� 71 ¡�'0 c�d G1&1 A� = F(ω) 0  A�$� b�
 ��22���� G��a �C�'���  

B < Y(ω)/N(ω)n�	�� i��P� [�� [U� 9'- �2�C��� 91����� +,- ��U��� .eC'0 L�� M� ; . T2�P�1 h��� ����m� !"# A�
 62���� T29��1 �����������Q� o2��� ��S� 6 �,������ 2 . �$%��� A�$0 8 ��H�	� 91����� �$%�� A�U ;c�d +,- T&=-&

[��j� i�r�p�� XS 71 �O�9��� ���
 6& 4��'��� 22���� ����O ��d ���'* 6 �9- �1 �y1j� . ¨ �1 L�� �����Q� hCy�&
�1 6 T���O c�d 7- ¡�'0 A� 7$K w&���� !"# G��� :� �<� 9* �C�� :� ������ �9%40T�'V�� ��<�� ��� 71 .  

��"�� ��C��8� �H�z& �$%� ���m� ��H����� �#& T91����� ������� ��C����� +,y�� ���C	�� q��V�� �O� ����1 E�'#& .
B�V�r �H�z��� !"¢ .��u��� \H�� A�$0 A� .eC'0 ;�'1��1 o��� ��e%� ���V��� A��p� B=y�U N&�£�� 8�& 6�$�� �9V��� 

B�'��1 ±����1 ��C��a� ²�<H�� . .H0 8 ������� /���8 R�1 n�	� �2�C��� 91����� A��r �# ���Q� !"# 6 J�,	��&
 ��2���� ��%� T�&�p���(1).  

 
����� q��0 �
& ;c�d :� ��'���&PSK��� ������� ���� +,- ������� 71 ²�O n'� �0�	� � ; nu�z& ��
n-�p1 91���� �C��1 ..,0 ��� ��H�	�� ���U�y� 7- lC���� 7$K&:  

(2) Sk (ω)  =  S(ω)e j [K ψ(ω) + α(ω)] 

b�
:  

  
ω
ωψ

d

)(d
S(ω)2  =  A  

  A :  h��Y �1�-  

  α(ω):  ��u��%- T2&9� ���2.  

������ ��D n�D w��0 A� R�1 /���� n�D ���
 6 B�d� 7$K&��H�	�� ���U�y� >�����& � . 2�|�� g������ �����1 7$K&
 G0���� L�0��U �0�? T9-��I ��,0�?& �H,�f ��,�,�� o�*��� ������ ��H�D ��U�y$� ��'�-  

(FFT) (Fast Fourier Transform)��'1N ��'�- :�  .$K&O 7 71��� ��� 6 ������� T�H%� ������� g���� X,
 �������� ��'���� 71 29- �U�r� .eC'0 c�d ³��0 �
& FA�1���� 90� T�H��0�H<�� ��H�	�� �U�y$�� ��'�- :� B�VC�1 

 XVU "u9'-&�£'0 G0���� L�0��U �0�? (FFT) . X,���� lH%��� 71 X�'�� �"# A� :� T����� �9�&) 22���� ��� 6 91���1
h*��� ��� 6 A�1���� 90� T�H�& (�U �#& ���'* 6 �0�e,� ��HF.  
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2.2  �b��-�� ���M���: ����:�  

 oN���m� �������� �¢�CV��� q��� ��� ������� ´��� A� �pH0 ;��1�,��� ����� �8�Q� T29��1 g����j� ���
 6
 ��CV��=� �y1j�">�@�� ."�� �=0�1 71 ���'- �������� oN���m� !"# "�H'�� �V0�D X��� A�$�& 4V5�0 �
& F��$%�

������� �&�%�� µ���� A� .eC'0 c�d:  
_   ������� �,�<
 A�$� A� g| L�� M� ;���'- T9- 71 ���$1 T���� �8�Q� T29��1 T����� A�$� A� g|

F���&j�  
_   T�H%�� ��,$� ���V�� �<'��� A�%� �1�,�1 ���&� T���� �� 7�p�� A� g|bi, k;F  
_  9��� A�$0 A� g|�2�C�1 �� +,- B=V��1 ���&j� ������� +,- �Y}0 M"�� �O�.  

������� �e�<��� ���V�� T9-�* 7- ��0 ���Q� !"# 6&:  

(3) max 













= ∑

=

N

k

kkii yeL

1

,  

b�
:  

  ei, k  : ���* "��0 M"�� �1=��� �1��11+ A�$� �19'- bi, k = 1  

  &1-  A�$� �19'-bi, k = 0  

  
)Z(W

)Z(W

0/k

1/k yk  =  n  

A�$� b�
:  

  Zk  :   �C��1 �O2 T����) �$%�� ����1(  

  W (Zk /1)  :   ���* A�$� A� ����
�Zk = 1  

  W (Zk /0)  :   ���* A�$� A� ����
�Zk = 0.  

!=-� �'�C�� �&�%,� �,������ ������� i�H���� �91 9095�� �y1j� G��	�� ���Q� !"# 6 w��0& .�%�� +,- g���0& RD
���'��� ��$%� �0�1 ������� ����$1� R�&j� . ��H�	�� �U�y$,� �'�- �� 7�p�� A� .H$0 A�D�%�� A�"# µ���0 �
&) &�

�#���'- (�¢ ���V�� ¥�'Y8� �1��� �1=- 7- �1�,�1 . �=V��� +,- \'0 ��%� �O�9��� ���=V��� ��� ��H0 A� 7$K&
� �,����� ������� L£�1 ��D�V�� o��� :� �C�'��L�0��U �=0�5�� �����j� nu�z��� . �Cm� �8�
 6 ��%�� �"# µ���0&

 T�9* n�	� �O�9��� �8�
& h*��� �
�
�� �C�'��� �����j� nu�z��� le� o9- �8�
& �H,���� ��22���� ��*�	� 6 �V����
q��'1 .!=-� �'�C�� �&�%�� G�@ µ���� A� B��,�- 7$K 8& ��$%� �0�1 i�r�r 9r ���<Q� kC<� b�� �,1�� T��<� 

2�H'�� ��CV��8� ���
 6 B�ly� �pU� �¦�� G1 �,���� i�r�p�� 9r ���<Q� 71 n�r� ���'������&� ������ .  

 ���V�� T9-�* "H'0 M"�� o2���� ��CV��8� q�V� >�@�� X	��� A�$�0(3) ������� ��9
��� 71 )�� ���� �$%8 :( T9
&
 ����
� �89�1 q�0����� J��Qyk FT9
& ��	m� ��$�j� J��Q LiF  +<*�� .	m� �$%�� q*� 9095�� ���V�� �<'-&

�,���� �1�,��� G���� q��V� 7$K �"$#& ;q*� �$� ��'�'Y8� N�1�,� ���m� L�C���� A��V0 .�*� ����& F�'$x ���*.  

3  ������ ��	  

 �$%��� 2�09 ������� ���'��� 71 A�$�0 �#& o��'�� nu�z& X	f : ������� �0�5�� N��P FR,������ n0��	1)o2�1 (
 ����~� 9�
& `��P 
�	'� ����& F�,���� 6 q$5�,� �<H'1 N��P 6 �1�& n0��	�� 71 J�V��� T���C1 �1� GV0
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L� �1N=�� ���u��¢�& ��CV��8�& .& 6 o2��� g���� 2�£I& 22���� ���'* +,- w��	��� ��<�8� q�0 ;q$5��� T9

��<��.  

����1 ���� ����9� L,���� 7$K w��	�� 71 J�V��� T���C1 o2��� g���� 9'-&. 
  

 �$%��8  

=C���� ��	������ c�,� R����  

  
 

 �$%��9  

����Z� �
d =�e? L@�f� g
1  

  
 �$%�� �yK&10 X	f � >�@�!=-� ��y� � ��� °2�C�� kr�0 �#& o2��� nu�z� . �1�,�1 ����� o2��� q��<� �&
 �9�I ���*�bit/s 1 200-600. E2�� �����0 c�d 71 ¬2� �9��� A�� �d�& )�H%1 _c$H1 (6�r� . +,- ��<Q� 7$K&

 �9�1bit/s 2 400�,<H'1 ������ ���'- ��CV��� :� �09C����& �,������ ������� 29- T2�0��  . 71 o2��� ���1 A�$�0&
 A���*� N��P(CD) T91���1 ������ g��1& (OSS).  

 A���*8� N��P q��<� �&(CD)�� ����2 &� ��<�� 22���� ���'* 40�D 7- ������� w��	1 G1 o2��� oi=�0 b��  ���
g���� 6 q$5���& ����1 .�$1 7�p�0 �#& _q$5�,� ��V	'1 T��2& 9���� T2�-� N��P ;��� 22��� k5<1.  

������� �	
� 
�
���� 

������ ���� 
���� 	��� 

������  
����� ��!"�

#"���� �	
� 
$%��&%� ' 

()��

*���+�  
,-
.�/0� 

*���+�  
,-
.�/0� 

()��

1��20� �+3 

4��)���� 5�6�7� 89�� 

4��)���� 5�:��6%� 89�� 

 �6��SSB 

 �:��/�SSB 
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 T91����� ������� g��1 o�V0&(OSS)J�,	�� 9Q� :� �#�$0& ��,Y����� �����~� �$� i�	-��  . 71 g���� A�$�0&
 XVU Ti��* T���d& lH%� T9
&(ROM).�*� ����& /{ .,Y�(DAC)T�9V,� �$1& [H�'1 22�� v���1&  . g���,�&

OSS 6 B�H,� ���f A�$� �1�,��� ����� �¢������ J�,	�� ������� G��a ��'1��� ��'���� A� 6 �y��� ��H�z& ����O 
 T���dROM�V����� T�VH�� 6 �U���� 9-��V,� B�VU& J���Q� +,- B�H,� ����
 � 9* A�$0& ;.  

�� �$%10  

=C��� L@�f� g
1  

0763-10

A

D

E

B

C

  
  

 g���� ���&� �,
�1 6 �16 n�D ������� !"¢ A��& F�,������ �����j� °2�C�� 71 4V5��� ��e� T91���1 T���� 
 �9�� 6 q��'1 /����1,1 :� kHz 2,42
�	� ��-& .,�U  71 0,66 :� kHz 2,86 . �,yx ��H�	�� ��U�y$�� h���&

R�'�'Y8� 70�1��� �1=- +,- �1�,��� i�	-� ��'1 �$� 7$K ;�C��1 ��'�- ������ . !"# :� n�	�� �0�? 7$K �
&
� R�'�- �U�r� � ��'����Hg��1 �<'�� ��U�r� �H-�p1 h0�P� L�0��U �0�? 9��& R�0�.  

 ������ ��'1��� ��'���� ��O2� �& �9�I �$C� 6 �5'�� �"# +,-8 T���"� ���� ROM h�*���� 22�� 9'- ��i��* 9��& 
kHz 8,8 W�O 9'- ��<Q� 7$1� ;DAC T9I ��,Y�{ ������ +,- ms 3,33 91��� ���U& ;ms 2,27.  

;�2"�  
<�:&�� 

=6�
  
��+�� >��� 

;�2"�  
<�:&�� 

=6�
  
��+�� >��� 

�	
�  
�?�5�  

�
���� 

LU

����� 
*!!"�@  
#A���� 

���� 
������ 

B�CD  
E����� 

=9��  
$����F  
�	��.�� 

�	
� 
#"G 

B�C
 
����8� 

�	
�  
�!&���� $�))����

A: ()�0� �:��/� �I) 
B:  ()�0� �:��/0 J�K ))��@ L�I  
C:  �
�/� ��!�@ ()�0� �:��/� L�I  
D:  ()�0� �6�0 J�K ))��@ �I)  
E:  � �I)�
�/� ��!�@ ()�0� �:��/  
F:  ()�0� �6�� L�I  
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.,0 ��� o2��� ���1 6 ���,���� G���� A�$0& : w��	�� 71 ��'�'Y8� �1�,��� ������ 9���� 2��0 T�H� �$%� b�� X,�&
 T���d 6 i�V��8� 6 q$5�� ��� lH%��� T��2 �O2 :� �#l��� M�|& ���� G����ROM �%- ����� ��$�j� �9
� 

T���~� . T���d W�O 9'-&ROM T9
�� ��'���� ��? ;DAC T�'V�� 40�D 7- �<�& �#lC$� q�0 ��,Y�{ T���� :� 
�	'� ����� �O2 :� ����<�� 9�
& `��P 
(SSB).  

 �$%�� 71 kp�0 ���&8������� ���'��� 71 o2���� ��CV��8� q�* A�$�0  : ����
8� g�� q�0����� J��Q N��P
) ��C��� w�%$1(CDT) ��	�� 
�H� g��
 ;(PDC)( n��$�� v���1 ;qu���1 (MF) ��	m� ��$�j� G�@ g�� Li ;

 ���V�� �<'-&(DE)�� ���* 29� M"�� �*� ���� T9
&& +<*j� �$%. (DCU) . �'1��1 N��P 7�p�0 ���(SD) T9
&& 
 q$?(CU) .��	V��� &� .u�pU /�'�� W&2��� &� 2�H�� J�,�j�� ��e%��� ���£��� �"� 7$K&.  

�& M��	�� �<'��� g�� M"�� ��C��8� w�%$I ��H�	�� �U�y$,� ��'�- :� ��,Y����� ������� �0�? q�0& .������� �<'��
�'�- �$� . N��P T9-��I T�'V�� ��D ²�<  �&j� 7V���� o9- �<'- 71 \,���� q�0&PDC n�	�� J��
 M�|& ;

�,CV���� T���~� M��	�� . �������� ��u=�� �'���� i�V��8 ��'1 2��- �� n�$0& �U�H<�� J��� qu=�� v����� �e%0&
�$��� ���$1 .�� �<'- b5C0& ���VDE +<*�� 2����� 7- h��U T9
& ��������& W�O DCU������ o�V0   G����

 N�1�����'�'Y8� ����<�� ��22���� k�U T9
& 40�D 7- �1�& T���C1 �1� W�m� w��	1 :� �<0 M"�� ���'- ������ (TKU).  

>���� �9C�� :� q$5��� T9
& ��e%� 9'��0& :� v����� W�O w��D� 9'- h��H�� h��Y �1�- 2&9
 6 �*9� 4��	1 n�$�
 G0N�� G1�����8���
=�  . ����1 A� kr�&&i�2� A� .eC'0 8 L�� �I T9
 �y�� G0N���� �"# A�� ��,� 7�5�0 T�'V�� 

n�$�� v����� W�m 9
�& w��	1 9'- 8� +,y1 ���
 6 h��H�� ���0 . ����1 +<*� R� 
�H�� ������ A� 7$K&
��& h��H,� T�'V�� T2�P q��V�� �OZ� w�	�� 71 ��� T��<� J��V0 M"�� ������,�- 6�1�,��� ����� .  

4  )&�*��� +,!��  

������� ���'��� 7�p�� �P"S ��C�O� T9p'1 �������� o2��� +,- �0��f J��� i��P� � : 9�
& `��P 
�	'� �CV��1
(SSB),� 9��1& R-��%� T�'V�� T���� T9
&& i�	Oj� 29- J��Q .�*� 2�9-& i�r�p . LC� G���� ������� �&

���£�,� X�,�� o2��� G1 �1�$�1 9��1 7- ¡��� .u��%- .��e%�,� g����� �Y=Y ��,? �& : ����Y ���,�I T�'*
 T9I /��%�� ��%��� h*& 6 
�H� R-��%� T�'*& F.,0�� �CO& 9
�& /��%� T�'* Fi�p�� i�r�r&ms 1��&  ��-��

�V��	�1 .,0�� ��'�#��& ��-��� . R,$%�� 6 J��£��� !"# ¡u��� 2��&11 &12 . �$%�� kr�0&11 ��C� +,- 
 45,�� 6 LH�& 2�0 ��� ��22���� 29��1 o2�� i�r�p�� 9r ���<Q� ���'5'1 ����V��1 �9�1 �H'� ������� !"¢ 

������ �-�� .���<Q� A� :� ���'5'�� !"# l%�&!��C�O� � M"�� o2��� ���
 6 +,-� A�$� i�r�p�� 9r  . l%�&
 ���'5'�� ����V1A &B �$%��� 12�  ( ����V��� +,-� R-��%� T�'* ���
 6 i�r�p�� 9r o2��� ���<
 A� :�

9
�& /��%� T�'V�� ���
 6 ���<Q�� .T9-�* A�$� 8 ;q��'�� �Cm� �8�
 6 L�� �# c�d 6 gC���& ���V�� (3) 
+,y1 ..���� �&2 ��� �����H� o2��� L1&�V0 A� 7$K M"�� ��22��,� .u�V��8� �C�,� A�$0 R-��%� T�'V�� 6& . RC0&

 
����� ������ ���&� ������ c����1 l� �CV��� i�r�p�� 9r ���<5,� M��'�� ¥5'�� XV'�� Xm�PSK ¥�'Y� 
.,0�� �CO 9'- ���Q�.  

� �& ��- X  ��l�I o2��� +,- �,���� ��C�O� i��Pkm 3 600 &km 4 300 . 9�
& `��P 
�	'� ���1 ������� �&
(SSB) kW 15 ����� ���u��#& ��#��� �$���� E�� �$� 6 ��CV��� ���u��#& ) ��CV��=���W&2� .( i��P� �&

 ���'��& ��,��� R���U i�'Y� �&j� l���� ����C�O� +,-9
�& 22��.�&  l��� ��C�O� 9'- 7022�� ������� ��y�� . �9�1&
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���� �� ���	
�� bit/s 1 200 
���� ������ ���� �	�� 5 ��� ���� ���� !"#�$ %&�$ �	��'�� ���()(� *�+ , -./��0 
 1'23� 4� 536 %7�"128 .(  

5  ���������  

 ;���<� =��
��� >?PSK =��@��A� !� *�
�� "<�C�D " =��+? E(� F�&�73� E& ���GH� I���� !J+ ����'�? 4� E"K"
�����3� ���	
�� . ;���L3 M	�
3� .����3� ����� %�&��3 N0�� �"��$ ,�PSK O��� ��+�P? 1�
��" N0�� ��� *�
�� 

 .)	�� Q R��� N0��� ��S�(3� TU� 4� V�2" -*W�(�1���XA� Y/��� Z2$� -��[��3� TU\  =E
� 4�7" V�� ]? ��+
bit/s 1 200 #��^�$ A ��X ����� 4−

10 ]? 3−
10 =��_ 95 ]? %98 4� ��J��� M�`$ �a[� �3�S Q b��3� 4� 

3 000 ]? 4 000 km.  
  
  

 1'23�11  
�	
���� �
 
���� ��	��  

  
  

A: �������� ����	 
B: 
��
�� ����� ������ ������(DPSK)  bit/s 1 200   

C: �������� ����	  
D: 
��
�� ����� ������ ������)(DPSK  bit/s 600   

 �
���

�� 
�

 �
	


� �
��

�

�

(P
e 
)

��������� �����(dB)
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 1'23�12  
���� � �	
���� �
 
���� ��	������ �  

  
  

 �
���

�� 
�

 �
	


� �
��

�

�

(P
e 
)

�(��!�"� ������ 

A :���# $��%�  
B :&'��%�  

*�+��� �'�+:bit/s 1 200 

,������ - .�/� *�0���(Pe ) 

1  (���23�� �45# ������  

A :km 3 600  
B :km 4 300  

*�+��� �'�+ :bit/s 1 200 
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 �����4  

 ���	
�����/

������  
������ ���
� ��������� �
����� ����� �  

1  �	
�	  

�"����'"E3� ��c���� �"�"0��3� ��+�P<� d��$� �����" (HF) =��@��A� M/��� ef ���J �\��@��� T�g� Z`�" ��(�S .
h� d��$A� iEjk#����� 8��@��A� �G�h� d��$A� 1��@" ��(�� kE��
$ 8��@��A� >�'" ��(�S l0 . 4� *c�(3� �����

 
+�P? �"�� !� ���E3� �	�@���� 
+�P<� �"�� 4��K�$ �� m��3�n V�� ]? b	[�$ o3� ��+���XA� p
� V$E�� 8��@��A� ��Z`$
E��
�� �G(� Q I�G� .h� �U� =a`��� 4'q�N�W(3� F�0� R�)�3 E��
��� M/��r� �[�(
3 N�W� =��
���� �s.  

 4�7�$ �"����'"0 ��c�t ���0�� 
E�(HF)  �	� �����'$ �"��$ ���(@$ ��	�	�$ ��`(�n�+� .)	�� Q 
+��U�� 5	$ 2 .
����
�� +��� Q m�"+�0 E�u��3� �u�J 1XE" �c�� 1'P ���0��� p
� 1�
��$� .U3� -E�u��3�� -�J��
� #��+ 4� O3��" k

�u���@$ R
�" o3� 
�(@	3 vw p�� ���^��� %���3 . 
E� 4� ����3� *73 vx� p�(3� ���^��� k��� 1�
��" >� 4'q U/E(�
��	�y ��(�# 1ut ��Z�� . z"E{ 1c� 4� I�`G3� ��c��	3 z"E{ F��c? ."�_ 4� �"+�c p�(3� ���^��� �@�$�

M���'�3� k����.  
�� �| vx� ���� 4� v�
$ >� 1��}� Zn 4� >� z�S m�E��� >�'" >� ���(�� +�2��� ~�3��� 
E� Ec���3 4'q -�"���3� E


�	���� ����3� 4� FKc 1�@��" >� =���S� 4� E"K" . b��� ���_ �ra`��� 4'q 8�	�h� d�(�� ��
$ o3� -
���W3� TU��
�� ]? 1G$ o3� �	���� ����3�F�&�73� �	� ~	`�	3 ��J�� 1�@�� . Vc� 17J� �	� 8�	�h� d�($ ~�� =��
��� 4'q�

*W�(�� ���� k0���3 M�'" �t m�Z�� Z��� �X�$ Q �a�XA� >�� �6? . F�2�? 4'q kE��
$ M/��� �[�(� =��
�����
1�'2�3� 1"K� 1X0 4� �� ES ]? ����s ���@� ����([ 
0E
�� ��Z�� .TU\� 8��@��A� d�($ ~�� .�@{ 4'q �@"��3� 

8�	�h� d�($ =aX 4� F�0h� R�{� #���3� R� 1X�E�3� !� 1��
�3� �	� N0��� 
+E� 4� 
0����A��.  
�(@$ b�+�0��>>���	�y  : 00��3� 1�@� 1��� ��u(� 1� Vc�" 4"E��
�� R�/��� 1�
��$ M�� =��+<� d�(�� ]�h� ��
$

_ 4'3� 1G�(�E�S� M/��� V3 1�@��t 1G�"� -�a���� 4� ES��� M���h� ;��(3� 1X0 �X�"� k+� . ��
$� �����3��
d�(�� ���@���� ���/��u	3 4"+��� 00��3� �	�@� �a�@��� 1�
��$ 4'3� 4"E�S� m��/���� ma��� 1�
��$� -=��@��A� 

m�"0��� .�� !� =��@��A� d�($ N��7t 1�@���� ��X 1[�"�N0��� Q 1XE3� Y�(" kU3� -M���h� ;��(3� Q �X�� Z .
N0��� Q 
+�P<� 1X0 1�'2$ 1c� 4� R$+�P<� !D V������ =��@��A� d�($ N��7t �	[�� 1�@���� ���X >�'$� .

 ����3� N��7�� �U� %��"�N0��� 1"E
$ >�0 d�(�3� =��@���� .� ��c���� �a�@���� 1�
��$ �� 
0��� �"����'"E3HF 
 !��^�3�AGC������ ��"�� p
� 4� m��"�� >�'" ��X �	� F�@�L3 -
+�PL3 �7"�
3� ����("E3� ������ 8�
���A  .

 Zs�$ =aX 4� 1�@���� ~�� 0�0K" -���� F�(s� 
+�P<� 1X0 �"�� p�� ��E(��AGC . �$�$ ��
" 53U3�AGC m�F��c? 
�x� ���(3� ���@3 m����(� ��S/N . ���(� >�'�� �	� N��7�� *��G$ 0E2" >� M`�("�S/N ���(� >�'�� 4� 17J� S/N 

���
73� . ���$��$ 1�
��$ ~��3� �Ur�AGC d���� 1�'2$ ���� E"E)�3 d�(�� N��7� ."�_ 4� �a�@���	3 
R$+�P�� .N0��� 1X0 �	� �g�(3� 
+�P<� .��$ ��E(��.  

�[��� N�W(	3 ���(3��� .)	�� Q �2 4� ���� ]? k���� 
+E@� E�� z�S ms 5 M���h� ;��(3� Q �X�$ >� Ec�� E@J -
 T+E�ms 2,71��h� ��  .O
&h� Z��� �� �X��� Z��� >�'" ��(�S Y/��(3� 17J� �	� =�GH� 4'q V�� R�$� . IK
"�

N0��� Q �	�
��� �(��K� ���(@$ ]? 536 .F��c? >�J 53U3� .��$ >� 1�'" �"0��
3� ���/��r� !� 
+�P<� �X�$ =��
��� 
R��(@�3� ��	� Q �"�@3� ��+�P<� ���
73� 
+�P<�.  
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2  ���������  

 �"����'"E3� ��c���� �"�"0��3� ����
�� ��W�� F�0� 4�j >� d�(�3� 4� ��(3� �Ur 4'qHF . d�($ O�f >� 4'q�
�+� �S ���� �AE
� =��+<� =���� �sas �S ���� =E
� 4�j >� =��@��A� d�(�3 4'q RS Q d��$A� =���� �


d��$A� . ���+E� d�(�3� V)��" kU3� 4�)�3� *��@$ 4'q� d�(�3� 4� �	f N�W� F�0� R�)�3 ���	��� ��J�&<� =��+<� 
+E�
d�(�3� 4� �@@}� �"��3� ]? .�'$ p"�
$ 4�7�" N0�� ���(3��� 1���� 
+E� Q 
0�"# =��+<� d�($ =��
��� =0�
" -M��

 �)(�dB 8-6 �	�$ 
+E@3� Q 
0�"K3 ����3� =��@��A� d�($ =0�
" RS Q dB 4-3 . -=��+<� d�($ 1�
��" N�W(3 ���(3���
 
+E@� >a��� 1j >� 4'qW 100 
+E@� 1��� 1� kW 1 T+E� ~�� .@{ =�S Q dB 7 .p����3� �U�� 
+E� Q 

 ���0��� 1"E
$ >�0 �	[�3� =��@��� ���� Q �� =��+<� ���� Q ��? 8��@��A� d�($ U��($ ����'��� >���� �6? 1����
O�3�'�3� Q m�Z�� m�7��� 1�q >� 4'q -
0�c��� . �a[�3� �� �	� R
� .���$ Q 1�
���� d�(�3� �� O���" ����

��(
�� .� >� �
" �U��
E�
�3� ��}� �u	�
��$ 43 RS Q d�(�3� �����h� ��}� 1�
��$ >� %c+h� 4 . =��+<� Q d�(�3��
 ���/��\ 536� ��/�(3� !����� Q �� �	@(��� ��G(��� �A�G$A� ����
� �a[� F�0� K"K
$ 4'q RS >�E��� =��@��A��

��h� ��}� !��� Q ��J�&? �a���� �a�@�������.  
  
  

 �����5 

 !" #$	 ��%�& �
���' (
�)"bit/s 4 800��)�� �   
 ����'
*�%�� �
+��
,(HF) (
�)-� #���.� 0��' 1' PSK  

 2��,�	 �
.	� #�*3�, 4�(QAM)  

1  �	�� ��
��	  

 %��"=��+�� N0��� �U� ����
�� �AE
t����	
� ]? 1G$  bit/s 4 800 1�'2�3� 1�
��$ QAM-16 M�J ��� 
;��� �	�" 300 ]? Hz 2 700 . ]? �	[�3� ����(3 m�
�$ 1�'2�3� �@"�_ =�{�QPSK =E
�� Q bit/s 2 400 ]? BPSK Q 

 =E
��bit/s 1 200.  

2  ������  

�  �AE
� ����$����	
�  ]? 1G$ bit/s 4 800.  
�   ����	
�� =E
� =�j ]?bit/s 2 400)  !�QPSK ( ��bit/s 1 200)  !�BPSK (�	[�3� ����(3 m�
�$.  
�   R� =��+<� ;��� ��� �����"300� Hz 2 700 =0�
$ ���(@3� R� 
E���t %��" �| kHz 3.  
�   T+�E@� m��(��K$ m�
���$ =���$��3� 1�2"28 4� O3��� ����
�� =�$+� 4� 1$+ 1� 1��@" m�K�+ 112 z�� m�K�+ 

 =��+L3 ��3�h� ����3� �AE
� �	�$kbit/s 6� kbit/s 3� kbit/s 1,5.  
�   =��+? ���� 1"E
$ >�E� 1"E��3� 1��@$ .�@)�� A? �_���� 1�'2�3� 8�	�� �3AE� ���3� =E
� 1"E�$ 4'q A

��+�P<�.  
�  T�gA� M/�(s� +��@� +�'� ���� 1�
��".  
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3  �����  
  

1�'2�3� 8�	��  QAM�16  QPSK BPSK 

 �	��H� �c��� =E
� (kbit/s) 6 3 1,5 

 1�
���	3 ���3� =E
� (kbit/s) 4,8 2,4 1,2 

 ��+�P<� =��+? ���� (kBd)  1,5 

1$�3� =�_  140 m�K�+ (ms 93,3) 

4��K�3� !���$ 28m�K�+  

����
�� =�_ 112m�K�+  

�"��$  T�gA� M/�(s DFE 

  

4   ��������� ����� !�"#  

 >a'23� %&�"13a� 13b���3� R����� C���3� �	� 1�'2�3� 1"K�� 1'2�	3 R��.  
  
  

 1'23�13a  
������ ���!" #$%  

  

0763-13a  
  

��!�6  
���+# 

*��7 
D/A 

�8�9 ;�<�	
=>?�	 

����3  
��3�@�A� 

B��@3 
16-QAM/ 
QPSK/  
BPSK

����3 
*�3�D� 

BE%	 
F����3 

�����	 
*�+���

B	�� 
BE%G	

B8��3  
�����A� *��	

��3�@�	 
*�+���

H� I��	���<J� F0DSP)(

DSP:   ���<J� F0H� I��	  
LPF:  =>?�	 �8�9 ;�<�	  
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 1'23�13b  
����� �&'� ���!" #$%  

  

0763-13b

  

  

5  $%&�� �'�(  

 ��3�� ��(�� 1���� o3� #���3� !���$ �r�_ 
+�'�� =�$+� 4�ms 93,3 1'23� %&�" ��� 14.  
  
  

 1'23�14  
�()�� ���*  

0763-14

28 112 28

  

��!�6  
���+# 

;�<�	  
������ �8�9

�����+�  
��3�@�A� 

B��@3 ���KL 
16-QAM/ 
QPSK/  
BPSK

������ ��	
 
���
�AGC

BE%	  
F����3 

���<L  
�4M�@�N	

�����	  
�O4�E%3 B8K�

P	��3  
B3��� 

1�4+� B8��3  
B�E%��� 

���<J� F0H� I��	)DSP(

*��7 
A/D

��3�@�	  
�Q����3 ��'�

������ ��	
 
������
� )AFC(

P	��3  
�	��� 

�8�N3

  140 R��	� (ms 93,3) 

  ��	��	 �����	  ��	��	 

AFC :�������� - S�	�3#� TEU  
BPF :������ �8�9 ;�<�	  
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6   )���*� +,-��� �
��.16-QAM $'/-�0� �12�/�� ���3 16-QAM  

 =�E�� %&�"2 =��+L3 Z�2�3� 
E��� 16-QAM 1'23� R�"� 15 1�'2�	3 ����'3� ��y 16-QAM.  
  

� =�E�2  
 ������� +����� ,�-	�16-QAM  

  
��sa�3� ���3�  K��3� 

0 0 0 0 0 

0 0 0 1 1 

0 0 1 0 2 

0 0 1 1 3 

0 1 0 0 4 

0 1 0 1 5 

0 1 1 0 6 

0 1 1 1 7 

1 0 0 0 8 

1 0 0 1 9 

1 0 1 0 A 

1 0 1 1 B 

1 1 0 0 C 

1 1 0 1 D 

1 1 1 0 E 

   

 
1 1 1 1

 

 
F 

      

��NE  
���  

 iES�  
���  

 

  



 �������ITU-R F.763-5  28

 1'23�15  
 ������� ��.���� #$%16-QAM  

  

  

  

7  ��1�45� ��'��	  

 T��0� ��[��� +���XA� Q +��@� +�'�� k���� 1�
���14 
+0�� �
c�+ �"U`�� d��$ ��@� b�� ������ �"U`�� d��$ ��@� 
 =0�
" �G�� �X�$ Q �"���3� �	�#��+ ��� . 1'23� Q 0�$�16����n F�&�& Q ��X >�E� ��+���XA� Y/���  . E��
 ��[��	3 m�@�_ ���� ��+���X� ��cITU-R F.520 �	�$ �X�$ ;��J� �"����� Z��� �	� 8��� !� ms 3-0,5 =E
� 4� 

 T+�E@� ��XHz 0,5 . 4� =�'Ph� %&�$�17 ]? 19 ����3� Q ���� ��+���X� Y/��� ���� ���� Q.  
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 1'23�16  
BER��/�0 �	
�
 12 ��3 4"� ,	�� �56 72 �	
���� ����$�� �8	9��� ��:�*   
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 1'23�17  
BER ������� 16-QAM��; ,	�� �56 72 �	
���� ����$�� �8	9��� ��:�*   

  

 

������ ��� : ms 0,5

������ ��� : ms 1,0

���������  : ms 2,0

������ ��� : ms 3,0
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 1'23�18  
QPSK  BER��; ,	�� �56 72 �	
���� ����$�� �8	9��� ��:�*   

  

0763-18

5 10 15 20 25 30 35 40

10–1

1

10–2

10–3

10–4

10–5

10–6

E
b
/N

0
 (dB)

B
E
R

Delay difference: 0.5 ms

Delay difference: 1.0 ms

Delay difference: 2.0 ms

Delay difference: 3.0 ms

  

������ ��� : ms 0,5

������ ��� : ms 1,0

������ ��� : ms 2,0

������ ��� : ms 3,0
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 1'23�19  
BPSK  BER��; ,	�� �56 72 �	
���� ����$�� �8	9��� ��:�*   

  

0763-19

5 10 15 20 25 30 35 40

10–1

1

10–2

10–3

10–4

10–5

10–6

E
b
/N

0
 (dB)

B
E
R

Delay difference: 0.5 ms

Delay difference: 1.0 ms

Delay difference: 2.0 ms

Delay difference: 3.0 ms

  

������ ��� : ms 0,5

������ ��� : ms 1,0

������ ��� : ms 2,0

������ ��� : ms 3,0
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 �����6  

 ���	
 ������� 
���� 
	����� �	���bit/s 12 800/9 600/8 000/6 400/4 800/3 200  
 �����	��� 
���� ��
 ������	! �	��� 
	��"� �	#���	!HF 

1 �	
�	  

 �"����'"0 ��c�t �"�"0��3� �A�G$A� ��'�P �	� ���0�� ."�_ 4� �	���� ��+�PL3 m��	�G�$ m��[� .)	�� �U� �J�"
(HF) . �u�	� .	�" ��c��� =�'P� 4� �	/�
3� TU��STANAG 4539 .�� M�� ��
�3� ��$�6 ��c��� =�'P� 4� �	/

 R� ���2�� 1�`2�	3bit/s 3 200 ]? bit/s 9 600)  E(� Z�2$ 5�� 1�`2$ ����'�? !�bit/s 12 800 .(��U3� ��
�3� ���1 
���(@	3 
Z`��� ���W	3 ���^��a3 1�'2�	3 !"��3� O�'�3� 4� 4'� ��c��� =�'P� 4� �	��
3� �c��� TUr .��3�� ��

M� TU� ��c��� =�'Ph ����/�3�:  
�  3� 
�(� !��$ �	� 
+E@HF T+E� ��Z��� 0E
$ 4� *c�� ��  ms 5-3.  
�  3�F�&�73�� ��Z��� 0E
$� -���� 4� �D�(3� F��Xh� %�)G$ �	� 
+E@.  
�   R� �����" >� ~¡ �"���3� ;��� ���300� Hz 3 050.  
�  h� O2'3������
�� =E
� ����$�"U2�3� 4� O2'3�� .  
�  3� ��+E� �SKS# Q %����3� �	� 
+E@Hz 75 ± k����'"E3� =��+<� �	��S R� (HF) =��@��A�� 

k����'"E3� (HF).  

1.1  
	- <)-  

 �	�$ ����
� �AE
t Z�2�� ��? N0��� ."�_ 4� 1��$ ��+�P? *�@3� �U� ��
"3 200 -4 800 -6 400 -8 000 -
9 600 bit/s >�E� ��?� - T+E� =E
t Z�2$bit/s 12 800.  

 4� �����$ �"U2�	3 =��_� ��� �	� =�G)	3 
+E�3� �"U2$ 1�
��"�0,12 ]? s 8,64 . -E�S� Z�2$ F�@��� 1�
��"�
 T+E� kE��@$ =�_�7 T+E� M��Ja$ Z�2$� -1/2 E(� !�@�� -3/4����
�� �AE
� !���  .+�'�� Y¢ 1�
��"�  

full-tail-biting�"U2�3� =�_ £�� V3�_ �	�" kU3� M��Ja�3� Z�2�3� 4� +E�3� ����P ����< .  
 ¤ C�h� E�u��3� 4� FK^�� -�c��� 1'P 4� FK^� %&�� �¥ �	� �"U2�3� �a'2��� ����
�� �AE
� 4� 1� 1��$

�J��
�� �"+�E3� #���3� ��+EJ Q 53U�� Vc�+0? E��� E�u��� k+�0 1'2� .��� Q ���� ��
�$ TU� ��U3� ��
�3� ���
 �A���$��� !&�ARQ �"����'"E3� ���(@3� 1c� 4� 
��� HF . =E
� ���(��� �	� m�+0�� =��@��A� N0�� >�'" �U'��

�c��� 1'23 .Sa3� ����
�� FKc 4� �� E�u��3� 4� �"U2�3� �a'2��� ����
��.  

2.1  �������  

 1�'2�3� ���� �	�$2 400 �+K/s �	�$ �@��0 >�'$ >� ~¡ ���� M�� -#���3� !��� ���(3�� 0,024 ±K�+ / Vc� �	� ����s
 ~"�@�3�(ppm 10) ."�_ 4� 1� ����
�� ���
� ����� ��K�ug ."�_ 4� A -=��+<� ����
� ��$�@�� .	�$ ��E(� 

N0��� . +��3� �SKSK� ;���<� M� �	�
���� 1�'2�3� ���(@$�(PSK)� ��  M
���$ d��$� 1�'2�(QAM) . �	��H� �c����
 �����3�) =�S K����" M
����3� d��$A� 1�'2$ >�� �6? �� �3�S Q ��
����3� �����3� �	��H� ��c��� 4� ��# ��Hz 1 800 

 �	�$ ��E�Hz 0,018 (ppm 10) .�	��H� �c��� +��3 ���(3�� ��
����3� �����3� �	��H� �c��� +�_ �	�"� °90 . �J��'3� �	�$�
 �����3� 1'2�� ��X E(� 
+�P<� 
+E@3dB 20 E(� ���@�� 
+�P<� �"�� b{ 1�h� �	� Hz 1 800 �+�X ��+���X� E(� -

�����������  
1   �� ������ �	�
�� 
������ ��� � ���
�� ���
��
������ ���� ����!�� "
!� #
$ ���%&.  
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 R� �����" ;���Hz 200� Hz 3 400 . 4� E"K" A ��� 1XE" >� 1�
���� ��P��� �	� ~¡�dB 2± 4� IE�� Q 
Hz 800 ]? Hz 2 800 .��� ��P�� �� �3�H� TU� Q 1�
���� ��P�Nyquist z�S M
���$ +U§ 0,35 = α.  
1.2.1  �8")=�� >�2)��  

 +��3� �SKSK� ;���<� �� 1�
���� 1�'2�3� -�J��
�� #���3� !��� ���(3��PSK =�E�� Q R�� 1��@$ K�+ !� -1 Q� 
1'23� 20 .�J��
�� #���3� �	� ��	� k� .��" A�.  

  
� =�E�3  

 >�2)�� �*	?(8-PSK  

'2)�� @�A  A�$�� BA�C �=�*)( 

0 0 1,000000 0,000000 

1 π/4 0,707107 0,707107 

2 π/2 0,000000 1,000000 

3 3π/4 0,707107– 0,707107 

4 π 1,000000– 0,000000 

5 5π/4 0,707107– 0,707107– 

6 3π/2 0,0000000 1,000000– 

7 7π/4 0,707107 0,707107– 

  
 1'23�20  

 12 ��A	DE� ��.�.8-PSK>�2)�� �*	?("   
  

  
  

2.2.1  �	�$=�� >�2A  

����
�� =E
� �	� 1�
���� 1�'2�3� O����� -����
�� #���3 ���(3�� . =�E�� OG"�4 �3�S 1� Q 1�
���� 1�'2�3� 
����
�� �AE
� �A�S 4�.  

�����1

�����2

�����0

�����7

�����6

 �����3 

� ����4 

 �����5 
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� =�E�4  
�	�$=2 F�=2 �. G�- F��H�� ��=�I�� �������  

�	�	���� F�=2  
(bit/s)  

�������  

3 200 QPSK 

4 800 8-PSK 

6 400 16-QAM 

8 000 32-QAM 

9 600 64-QAM 

12 800 64-QAM 

  
 >�����'3� 1�
��$16-QAM� 32-QAM ��@	S PSK3�� 
�+U3� ���� R� ���_ ��a� �	� F�@�L3 
0E
��  -������� ���@

 ������64-QAM ����'3 Z`�� QAM������ 
�+U3� =E
� R�)�3 �3E
�� -M
����3� N���3� .  

1.1.2.1   �	�$=2 >�2APSK  

 �����'3 ���(3��PSK 1�'2$ ��	� ���nh #���3� 0E�� ����
�� ���� R� K����3� k�¡ -QPSK T+������ V�3? 
+�PL3 
8-PSK1�`2�3� Q  ..��"� ]? �J�&�� ��	��3� ��@�� 8 #��+ 0E� Q ��	� !����3 8-PSK . ��	�� M� 
��23� 1"�{�

����
�� ���� 4� ����^t V3��+? R
�" K�+ ���$.  

1.1.2.2.1    >�2A �*	?(QPSK  

 T+E�� 1�
���� ����
� =E
� ���(3�� 
��23� 1"�{ K^("bit/s 3 200Q 
0E}� #���3� 4� ES�� ����  =�E�� 3 
 ����
�� ���� 4� R��3���� R��� 4� ����^t)�c�0K� ��� ( =�E�� Q R�� �� ���5 . -+���3� �G�� Q 
0�c��� ���3��

R��3� �G�� Q 
0�c��� ���3� 1�� �"U2�3� 4� �^�(���� k� ¨��� NE�� M� -=�E�� �U� Q.  
  

 =�E��5  
 �56 72 ,)���� �&�Jbit/s 3 200  

����5"�'�� ��  
00 

'2)��  
0 

01 2 

11 4 

10 6 

  
2.1.2.2.1    >�2A �*	?(8-PSK  

 ����
�� ���� 4� ��3���� ���� ias 4� ����^t ES�� K�+ ���� 1�
���� ����
� =E
� ���(3�� 
��23� 1"�{ K^("
)��sa�3� ���3� ( =�E�� Q R�� �� ���6 . Q 
0�c��� ���3� -=�E�� �U� Q� k� ¨NE�h� M� ��sa�3� ���3� +��" �G��

 R"�Xh� R���3� 1�� �"U2�3� 4� �^�(���� ���3� ���iESh� ���3� MuJ R��3� �G�� Q.  
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 =�E��6  
 �56 72 ,)���� �&�Jbit/s 4 800  

 �������KL9�� '2)��  
000 1 

001 0 

010 2 

011 3 

100 6 

101 7 

110 5 

111 4  
  

3.1.2.2.1    �=�*)��� M	I(:� ����( �	�$=2 >�2AQAM  

K��3� *�+� ����
�� ���� 4� 
�P��� >�'�� 0E
3� R� K�q A M
����3� d��$A� 1�'2$ ����'3 ���(3�� . 4� ����© 1��
4  ����(16-QAM) �� -5  ����(32-QAM) �� 6  ����(64-QAM) K�+ 
�P��� 1��@$ QAM . -=���� 1��� �	��

�
��^�3� !�+h� ����	3 �"K��3� �0111 K��3� 1��@$ 7 ����'3� Q 16-QAM ���� b�3 �"K��3� ��
��^�3� >� RS Q 
100011 K��3� 1��@$ 35 ����'3� Q 64-QAM . -��� NE�� M� +���3� �G�� Q 
0�c��� ���3� ��
$ �3�S 1� Q -E"Ec 4��

�3�� -I�Xh� ����3� 1�� �"U2�3� 4� �^�(���� k�iESh� ���3� M� R��3� �G�� Q ��.  
 �����'	3 ����3� 1��@$ +���X� ,�QAM �	� F��Xh� k��($ ��E(� ����3� Q F��Xh� 0E� ES l0� ]? p�� �@"��� 

����'3� Q 
+��© �"�2$ ��@�.  

4.1.2.2.1    ��.�.16-QAM  

 �3�S Q -����'3� ��@� ]? +�2"16-QAM 1'23� Q -21�[� 0�"�  Q ��
����3�� �"+��3� ����'�� z�S 4� �r m�
=�E�� 7 . ����'3� 1��2$ -1'23� �U� Q I�� >� 4'q ����16-QAM +��3� �SKSK� ;���L3 R�
J0 �	� PSK :

4  #��+PSK� ��	X�0 12 m�K�+ PSKm��c+�X .  
  

 1'23�21  
 )&��( ��.�.16-QAM  
 �� ��	
	16���
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 =�E��7  
 '2A ��� ��=�*)(" �&A�C �	���216-QAM  

@�A '2)��  BA�C �=�*)( 

0 0,866025 0,500000 

1 0,500000 0,866025 

2 1,000000 0,000000 

3 0,258819 0,258819 

4 0,500000–  0,866025 

5 0,000000 1,000000 

6 0,866025–  0,500000 

7 0,258819–  0,258819 

8 0,500000 0,866025–  
9 0,000000 1,000000–  
10 0,866025 0,500000–  
11 0,258819 0,258819–  
12 0,866025–  0,500000–  
13 0,500000–  0,866025–  
14 1,000000–  0,000000  
15 0,258819–  0,258819–  

  
5.1.2.2.1    ��.�.32-QAM  

 1'23� %&�"22 Q �	�
���� ����'3� ��@� -32-QAM�"�  =�E�� Q ��
����3�� �"+��3� �ª���'� z�S 4� ��E"E{ *8 .
 4� Mc+�X .J0 �	� ����'3� TU� 1��2$�16 4� M	X�0 !���$� m�K�+ 16m�K�+ .  

  
 1'23�22  
 )&��( ��.�.32-QAM  
 �� ��	
	32���
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 =�E��8  
 '2A ��� ��=�*)(" �&A�C �	���232-QAM  

@�A '2)�� BA�C �=�*)( @�A  
'2)�� 

BA�C �=�*)( 

0 0,866380 0,499386 16 0,866380 0,499386–  
1 0,984849 0,173415 17 0,984849 0,173415–  
2 0,499386 0,866380 18 0,499386 0,866380–  
3 0,173415 0,984849 19 0,173415 0,984849–  
4 0,520246 0,520246 20 0,520246 0,520246–  
5 0,520246 0,173415 21 0,520246 0,173415–  
6 0,173415 0,520246 22 0,173415 0,520246–  
7 0,173415 0,173415 23 0,173415 0,173415–  
8 0,866380– 0,499386 24 0,866380–  0,499386–  
9 0,984849– 0,173415 25 0,984849–  0,173415–  
10 0,499386– 0,866380 26 0,499386– 0,866380–  
11 0,173415– 0,984849 27 0,173415–  0,984849–  
12 0,520246– 0,520246 28 0,520246–  0,520246–  
13 0,520246– 0,173415 29 0,520246–  0,173415–  
14 0,173415– 0,520246 30 0,173415– 0,520246–  
15 0,173415– 0,173415 31 0,173415–  0,173415–  

  
6.1.2.2.1    ��.�.64-QAM  

 1�'2�3 �	�
���� ����'3� ��@� R�$64-QAM 1'23� Q 23=�E�� Q ��
����3�� �"+��3� �ª���'� z�S 4� �u�[��  9 .
 4� 
0��
�� ����'	3 1"E� M� ����'3� TU��8 × 8
�+6 =E
� .@{� !��� / 
��P e/�G  ��)7�3� >�0 17J� �����

��
����3� ����'	3 k��n V�P.  
  

3� 1'223  
 )&��( ��.�.64-QAM  
 �� ��	
	64���
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 =�E��9  
 '2A ��� ��=�*)(" �&A�C �	���264-QAM  

@�A '2)�� BA�C �=�*)( @�A  
'2)�� 

BA�C �=�*)( 

0 1,000000 0,000000 32 0,000000 1,000000 

1 0,822878 0,568218 33 0,822878–  0,568218 

2 0,821137 0,152996 34 0,821137–  0,152996 

3 0,932897 0,360142 35 0,932897–  0,360142 

4 0,000000 1,000000–  36 1,000000–  0,000000 

5 0,822878 0,568218–  37 0,822878–  0,568218–  
6 0,821137 0,152996–  38 0,821137–  0,152996–  
7 0,932897 0,360142–  39 0,932897–  0,360142–  
8 0,568218 0,822878 40 0,568218–  0,822878 

9 0,588429 0,588429 41 0,588429–  0,588429 

10 0,588429 0,117686 42 0,588429–  0,117686 

11 0,588429 0,353057 43 0,588429–  0,353057 

12 0,568218 0,822878–  44 0,568218–  0,822878–  
13 0,588429 0,588429–  45 0,588429–  0,588429–  
14 0,588429 0,117686–  46 0,588429–  0,117686–  
15 0,588429 0,353057–  47 0,588429–  0,353057–  
16 0,152996 0,821137 48 0,152996–  0,821137  
17 0,117686 0,588429 49 0,117686–  0,588429  
18 0,117686 0,117686 50 0,117686–  0,117686 

19 0,117686 0,353057 51 0,117686–  0,353057 

20 0,152996 0,821137–  52 0,152996–  0,821137–  
21 0,117686 0,588429–  53 0,117686–  0,588429–  
22 0,117686 0,117686–  54 0,117686–  0,117686–  
23 0,117686 0,353057–  55 0,117686–  0,353057–  
24 0,360142 0,932897 56 0,360142–  0,932897  
25 0,353057 0,588429 57 0,353057–  0,588429 

26 0,353057 0,117686 58 0,353057–  0,117686 

27 0,353057 0,353057 59 0,353057–  0,353057 

28 0,360142 0,932897–  60 0,360142–  0,932897–  
29 0,353057 0,588429–  61 0,353057–  0,588429–  
30 0,353057 0,117686–  62 0,353057–  0,117686–  
31 0,353057 0,353057–  63 0,353057–  0,353057–  
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3.2.1  �	�$=�� #��N  

 #��+ ����'3 �	��@�� ����
�� #��+8-PSK)  =E
tbit/s 3 200� bit/s 4 800 ( ��@�� �J�&? ."�_ 4� ��	y8 !���$ !� 
��	� . ������ ����
� #��+ ��	� *�"�16-QAM� 32-QAM� 64-QAM�  M@�(� �� k�GS =���� =��
���

(XOR) .� -!����3��� K�+ 1� 1'2$ o3� ����
�� ���� !7)4 1c� 4� 16-QAM -5 1c� 4� 32-QAM� 6 1c� 4� 
64-QAM ((XOR)��	��3� !���$ 4� ����3� 4� k���� 0E� !�  . E3��� 0�EH� Z�� ��	� !���$ >�'" -�A�H� !�D Q�

 ��1 + 
4
X + 

9
X� Euq�  �S E3��1����
� 1$+ 1� �"�E� Q  . 1'23� R�"�24��	��3� !����3 C�D? ��y .  

  
  

 1'23�24  
 >�2)� #�$O��� ����( P
�& #��O��� 1*	�( ���28-PSK  

������� �����  

  
  
  

 #���3 ���(3��8-PSK)  =E
tbit/s 3 200� bit/s 4 800 ( ��	��3� *�" ��(�(sa3 �����3� ���@	3 ������3� N��+h� d��© UX��
 
ZXh� ia�3� ����3� 4� ��3��� ��sa�3�)R��3� �G�� ( K��3� *�+� -�SKSK3� 1^�� Q)
��23� 1"�{ ���� .( �6? -ma���

 M� �����3� !���$ �SKS# 1^�� Q 
ZXh� ia�3� ����3� b���010 k���$ ����+ ���� M�� 2 - 1�� K��3� *�+ >���
 �� ��	��3�6 K��3� �� 1���� K��3� >�'�� -0 : z�S(2 + 6) ��@�� 0 = 8 . #���3 ���(3��16-QAM ��	��3� k�¡ -

 ������XOR ����3� N��+h 4 
ZX«3 �	��@�� )R��3� �G�� (K��3� 0E� !� �SKSK3� 1^�� Q ���� !�+� . �6? -ma���
 ����3� b���4
ZXh�  M� �����3� !���$ �SKS# 1^�� Q 0101 �� ��	��3� 1�� K��3� *�+ >��� 3)  k�0011( -

 K��3��6 (0110) K��3� 1�Z�J -6 (0110) . #���3 ���(3��32-QAM ������ ��	��3� *�" -XOR ����3� N��+h 5  4�
 
ZXh� £��� ����3� ."�_)R��3� �G�� (#���3� 0E� !� �SKSK3� 1^�� Q.�  #���3 ���(3��64-QAM ��	��3� *�" -

 ������XOR ����3� N��+h 6 
ZXh� b�3� ����3� ."�_ 4� )R��3� �G�� (#���3� 0E� !� �SKSK3� 1^�� Q.  

����� 
������� 
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 +�'" -����
�	3 K�+ 1� ��	� E
��)�KSK" ( ��	� Q �r��
��A 
E"E�� ����3� !�D ����< ��#a3� ����� 0E� E3���
� K��3� C��3) Q 
+�'� #��+ �sas8-PSK Q 
+�'� #��+ �
�+� -16-QAM Q 
+�'� #��+ ���� -32-QAM ���� 

 Q 
+�'� #��+64-QAM .( =�$+� 1'3 =�h� ����
�� K�+ ��	� ~¡ -����3� =��
��� E
� +�'�" E3��� >h m��W��
 �`3��3� ��3�h� ���@3� 4� ����3� 4� ~��(� 0E
� ����
��00000001.  

 ��	��3� !���$ =�_ �	�"�511���  . 4� ����
� 
+E�3 ���(3��256� m�K�+ 6 ��	��3� !���$ >� �U� �
"� -K�+ 1'3 ���� 
#���3� z�S 4� +��'$ ¬�(� £�3 V�� *n+ -1�	@� =���� �sas 4� ����� +�'���.  

3.1  �()�� ���*  

Eu��" kU3� �"�2�3� Q �	�
���� 1$�3� ��(� %&�$ 1'23� Q .)	�� �U� VJ25 .4� C�� E�u� !��"� 287V�@
" m�K�+  72 
8��(�3�� �J��
�� #���3�� ����
�� #��+ 4� ma$+ . 4� O3��$ ����
� 
+EJ V3 ����
�� 4� 1$+ 1��256 m�K�+ 

 4� k�`[ +���X� Y����� V�@
" -����
�	331�J��
�� ����
�	3 m�K�+  . ~@��72�� 4� ma$+  ����© ��+0? 0�
" -����

 4� ��3�� ����J72�(��K�� O��'$� �	��0 �s� F�`3?� -�X���� 8����A� 1�u��3 C�h� E�u��3� Q m�K�+  . =��3� �	�"�

 m��3�S �
�@3� TU� Q �J��
�� ����
�	3 C�D<�103 k� -#��+ 72 ]? �J�&<�� -�r�X0? E��� E�u��3� 4� m�K�+ 31� m�K�+  4
 �r�_ �	�" o3� ����
�� 
+EJ ~@
$ k�`G3� +����	3 �@���3� �
�@3�256m�K�+ .  

  
 1'23�25  

�	5��� F	�D6 1��Q �()�� ���*  

  
  

1.3.1  F	3�E� ,�	-R ��ST" ��2�'�� ��ST  

�
"��3� ��3�h� �(��K�	3 �(��K�� E�u� 1�
��" .�3� 1�
��"� 8����� 1�u��3 V3�X0? 0�
�� E�u�)����
� (k+�c =��+?.  
1.1.3.1  ��2�'�� ��ST  

4"�Kc 4� �(��K�� E�u� O3��" . 4� O3��"� =�h� FK��N 4� 1�h� �	� 
+EJ 8-PSK 184 Vc� �	� �r��
��� ~¡ m�K�+ 
 ~�'3� Q ����$�h� *')�3� 1c� 4� �GH�AGCN0���� k�"0��3�  . �����N R� 1�'2�	3 �	��� 0� 7)  >�'$ ��E(�

0 = N;a_<� �	� FK�� �U� 1��" A  ( #���3� TU��184 #���	3 E@
�� .J���3� =��
���� 1'2�$ 184 0E}� !����3�� ]�h� 
v��3� FK^	3 T��0�.  

 �������� ��� ����! 287"���# 

 $���%&� '#�(! 256"���# 

 )�*+ #���,� -��
�� ! 31�# #�.�� /01�� "��
���2�3 4
��( /01�� #�
5� '�%�

 6�7�
�� 8�,9: '9��: ����! 103;
�# 
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 4� v��3� FK�� O3��"287m�K�+  . #���3��184s� F�`3? ]?� �(��K�� �Eu��$ ]�h�  #���3� >� RS Q -�	��0 �103 
�"U2�3� =���� ����
�� =E
t .	
�$ ����	
� 1�{ -V3�X0? 0�
�� E�u��3� !� ����2� M�� -
ZXh� . 4� v��3� FK���

 #���3 !����� V(� m��
� -�(��K��8-PSK =�E�� Q 0+��3� #���3� 0E� =��
����� -3M	" ��� �� -:  
  

1, 5, 1, 3, 6, 1, 3, 1, 1, 6, 3, 7, 7, 3, 5, 4, 3, 6, 6, 4, 5, 4, 0, 

2, 2, 2, 6, 0, 7, 5, 7, 4, 0, 7, 5, 7, 1, 6, 1, 0, 5, 2, 2, 6, 2, 3, 

6, 0, 0, 5, 1, 4, 2, 2, 2, 3, 4, 0, 6, 2, 7, 4, 3, 3, 7, 2, 0, 2, 6, 

4, 4, 1, 7, 6, 2, 0, 6, 2, 3, 6, 7, 4, 3, 6, 1, 3, 7, 4, 6, 5, 7, 2, 

0, 1, 1, 1, 4, 4, 0, 0, 5, 7, 7, 4, 7, 3, 5, 4, 1, 6, 5, 6, 6, 4, 6, 

3, 4, 3, 0, 7, 1, 3, 4, 7, 0, 1, 4, 3, 3, 3, 5, 1, 1, 1, 4, 6, 1, 0, 

6, 0, 1, 3, 1, 4, 1, 7, 7, 6, 3, 0, 0, 7, 2, 7, 2, 0, 2, 6, 1, 1, 1, 

2, 7, 7, 5, 3, 3, 6, 0, 5, 3, 3, 1, 0, 7, 1, 1, 0, 3, 0, 4, 0, 7, 3, 

 

0, 0, 0, 0, 0, 2, 4, 6, 0, 4, 0, 4, 0, 6, 4, 2, 0, 0, 0, 0, 0, 2, 4, 6, 0, 4, 0, 4, 0, 6, 4, 

2, 

 

(D0, D0, D0, D0, D0, D0, D0, D0, D0, D0, D0, D0, D0 + 0, 4, 0, 4, 0, 0, 4, 4, 0, 0, 0, 0, 0) 

Modulo 8 

(D1, D1, D1, D1, D1, D1, D1, D1, D1, D1, D1, D1, D1 + 0, 4, 0, 4, 0, 0, 4, 4, 0, 0, 0, 0, 0) 

Modulo 8 

(D2, D2, D2, D2, D2, D2, D2, D2, D2, D2, D2, D2, D2 + 0, 4, 0, 4, 0, 0, 4, 4, 0, 0, 0, 0, 0) 

Modulo 8 

 

6, 

4, 4, 4, 4, 4, 6, 0, 2, 4, 0, 4, 0, 4, 2, 0, 6, 4, 4, 4, 4, 4, 6, 0, 2, 4, 0, 4, 0, 4, 2, 0. 

  
 ����
�� #��+ UX�$ z�SD0� D1� D2 4� 
ES�� 30 =�E�� 4� 
+����� *�@3� 4� ����© 10 =E
� ]? 
+�PL3 

�"U2�3� =�_� ����
�� . *�@3� 4� ���� 1� >� ]? ��@�� Z2"�D V3�_ ��+�� Z�2$ 4� +�_ �SKSK3 1�
��$ 13  ���
(0101001100000)36�  ��@�� Q �J�&�� 58 ���� D *�@3� 4� ���� 1� ]? 13 ��+�� Z�2�3 )0 �� 4 .( TU� 17���

 Z�2$ 4'��� 4� ��	�
3�6 1�'2$ =��
���� ����	
�� 4� ���� QPSK 4� 13 ��� )
+UP (��+�� Z�2�� . b��� ���
 I�� 1`2$ A ��+�� Z�2�3 �sa�3� ��
����3�39Y���� =�_ Eq -m�K�+  �3��3� k�`G3� +���XA� 31 ]? m�K�+ 32 1'3 m�K�+ 

 ]? ��+�� ��Z�2$ �"�@�3 R�#A R�J�&? 4"K�+ Z���3 �u(�13 C�D<� �	�" �S m�K�+ 41m�K�+ .  
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 =�E��10  
 >�2A @��8-PSK D0 UD1 UD2   

F�=� V	?8" )&W���� F�C" �	�$=��  

A6 � )&W���� F�C F	() 72 �	�$=2 ,A�8256V�'2A (  �	�$=�� F�=2
(bit/s) 1 3 9 18 36 72 

3 200 0,0,4 0,2,6 0,2,4 2,0,6 2,0,4 2,2,6 

4 800 0,6,2 0,4,0 0,4,2 2,6,0 2,6,2 2,4,0 

6 400 0,6,4 0,4,6 0,4,4 2,6,6 2,6,4 2,4,6 

8 000 6,0,2 6,2,0 6,2,2 4,0,0 4,0,2 4,2,0 

9 600 6,0,4 6,2,6 6,2,4 4,0,6 4,0,4 4,2,6 

12 800 

(1)
6,6,2 N/A N/A N/A N/A N/A 

N/A: .��($ A  
(1)

  =E
�	3 ���(3��bit/s 12 800 >�J 1�"U2$ 0�c� NE� �
" �"U2$ 1$+ .  
  

 =�E�� ���(��A +����� 1��@�3��10 1�
��" 3�"U2�3� =�_� ����
�� =E
� E"E)�3 ����  . =E
� ia�3� ����3��
� ����3� M� ����
�� �3A0 ���h� ia�3(MSB) 4� #���	3 3 ����3� M� �"U2�3� =��3 �	��@�� ����3�� �c�0K� ���� 

 �3A0 1�h�(LSB) . =�E�� =��
���� �c�0K� ���� ia�3 �	��@�� ���	'3� 4� ��+�� Z�2$ =�_ 0Ej�5 1"�{ =�Ec -
�c�0K�� 
��23� . 4� ����
�� =E
� 1��@$�3U2�3� =�_� ����  =�E�� Q R�� �"11 . 1"�{ Zs�$ 4� >� �WSa� +E¡�

 !&� 
��23�3 !� M
���$ 1�'2$ Q �"U2�3� =��3 ��S�G� ���� 3����
�� =E
� ���� .  
  

 =�E��11  
)&W���� F�C" �	�$=�� F�=2 �&�H�� �	���� �	$$%  

F�=2  
�	�$=�� 

�*	?(  
3�	�*   

 F�C  
)&W���� 

�*	?(  
3�	�*   

@/:� 

3 200 001  11$+   001 Ultra short (US) 

4 800 010  3=�$+�   010 Very short (VS) 

6 400 011  9=�$+�   011 Short (S) 

8 000 100  18ma$+   100 Medium (M) 

9 600 101  36ma$+   101 Long (L) 

12 800 110  72ma$+   110 Very long (VL) 

  
� >#���� Zn ��+�� Z�2$ >h m��W�� 0E� z�S 4s0� s1 ����� +���X� , E@J -4� 3 ������� ~(^�3 ���� 000 �� 

111ES l0� ]? ��	���� �sa�3� #���3� Q >#���3� NE� 1�	@�3 536� - . Z�2�3 �sa�3� ��+��'�3� ES� -m�E"E{ ���� 1'2��
 �SKS# +�_ Q m��/�0 ��
" M
���$ >�'�� 1� Q �E�" kU3� ��+��°180� 4"�X­3 ���(3� . Q�[ >#��$ NE� ]? �U� k0�"�

 �`3��3� #���	3 M
���$ >�'� 1� Q39 ��� 17 ]? 22 >�'" >� 4� mAE� -m��/�0 12 ]? 27.  
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2.1.3.1  Z�	3�R �	=�� ��S����  

 #���	3 1s�| V3�X0? 0�
�� E�u��3�72�(��K�� E�u��3 ��/�u(3�  . #���3� >� !���3��103��/�u(3�  �(��K�� E�u� R� ����2� 

�P��� V@��" kU3� k�`G3� +������ V3�X0? 0�
�� E�u��3� 4� ��3��� �@[a�� 
+E�3�� . #���3��103 �J��
�� ����
�� 4� 

)�3� #���3� 536 Q �t103.���3� ����
�� 1$�3 k�`G3� +����	3  (M	" ��� M�:  

0, 0, 0, 0, 0, 2, 4, 6, 0, 4, 0, 4, 0, 6, 4, 2, 0, 0, 0, 0, 0, 2, 4, 6, 0, 4, 0, 4, 0, 6, 4, 

2, 

 

(D0, D0, D0, D0, D0, D0, D0, D0, D0, D0, D0, D0, D0 + 0, 4, 0, 4, 0, 0, 4, 4, 0, 0, 0, 0, 0) 

Modulo 8 

(D1, D1, D1, D1, D1, D1, D1, D1, D1, D1, D1, D1, D1 + 0, 4, 0, 4, 0, 0, 4, 4, 0, 0, 0, 0, 0) 

Modulo 8 

(D2, D2, D2, D2, D2, D2, D2, D2, D2, D2, D2, D2, D2 + 0, 4, 0, 4, 0, 0, 4, 4, 0, 0, 0, 0, 0) 

Modulo 8 

 

6, 

4, 4, 4, 4, 4, 6, 0, 2, 4, 0, 4, 0, 4, 2, 0, 6, 4, 4, 4, 4, 4, 6, 0, 2, 4, 0, 4, 0, 4, 2, 0. 

  
 ����
�� #��+ UX�$ z�SD0� D1� D2c 4�  4� 
ES�� E"E30 =�E�� 4� 
+����� *�@3� 4� ����© 10 ]? 
+�PL3 

 
�@�3� Q ��[��� �"U2�3� =�_� ����
�� =E
�1.1.3.1 . #���3� >� ®Sa���31 k�`G3� +����� 
�P��� .��$ ]�h� 
 �Xw ~@
$ o3�� -Ta�� V�3? +�2��72����
� 
+EJ .  

2.3.1  �&)[��� +*	I��  

�� 1XE$ �r�_ �3��3� �"�`G3� Z���31 4� ����
� 
+EJ 1� ~@� m�K�+ 256 E�u� 1� �"�¢ Q� m�K�+ ) m�FKc ��
�$ ����S
E�u��3� 4� .( 1�'2�3� #��+ 1��@$ =��
�����8-PSK+�'��� �	q�� 5���J !���$ ]? +���� 1� E(��" - . -1�
���� !����3��

 1�'2�3� #��+ 0E� Q 0E}��8-PSKC��3� �)(3� �	� ��
" -:  
0, 0, 0, 0, 0, 2, 4, 6, 0, 4, 0, 4, 0, 6, 4, 2, 0, 0, 0, 0, 0, 2, 4, 6, 0, 4, 0, 4, 0, 6, 4. 

 ��a
� k�`G3� +����� ]? +�2��� ."+"M� ��'
�� +��3� �`�[�:  
4, 4, 4, 4, 4, 6, 0, 2, 4, 0, 4, 0, 4, 2, 0, 6, 4, 4, 4, 4, 4, 6, 0, 2, 4, 0, 4, 0, 4, 2, 0.  

 ��a
� !����3� �Ur 1�
���� k�`G3� +����� ]? +�2���" � " T+E� >�+�E� N�� K�+ 1� +�_ >h m��W�°180 ��a� 4� ."+"  
 V���© �� ¬�(��73 4� ����© 1'3 m�"�`[ m�+���� 72����
� 
+EJ  . k�`[ +���� 1� *���$ *�" -1�u��3� ���nh�
E"E{ !� -!����3�� k�`G3� +����� 0 T+����� �	� 31 .���3� E�u��3� 4� 
ZXh� m�K�+ )V3�X0? 0�
��( +����� ~@
"� -

 *�+ k�`G3�1 E�u��3� E
� ]�h� ����
�� 
+EJ )V3�X0? 0�
�� .( k�`G3� +����� ~@
"�72 ����
�� 
+EJ 72 1'2"� -
 m�7"�31 #���3� 4� ]�h� m�K�+ 103�
�� ��3��3� E�u��3� Q �r�X0? 0 . >�"�`G3� >�+����� ����0� 72 E�u��3� 4� FK^� 

 ��a
3�� V3�X0? 0�
�� � ��a
3��  +C���3� �	� . �(��K�� E�u� Q 
��2�� -�"U2�3� =�_� ����
�� =E
t �@	
��� ����	
���
 R"�`G3� 4"+����� Q m�7"� 
��2� -V3�X0? 0�
�� E�u��3��1� 72. �"�`G3� Z������ 72 4� �����© !�+� Q !�g 18 

 m��3���� m�"�`[ m�+����) 4�1 ]? 18 -19 ]? 36 -37 ]? 54 -55 ]? 72 .( 4� ���'�� ����
�� 
+EJ >� �WSa� +E¡�
256-]�h� ia�3� ������� 4� ����© 1� Q -
�P��� �2� 4���3� k�`G3� +����� ~@
$ o3� m�K�+  
+E�3� m�7"� M� 

 �r�_ =�$+� �"U2$ 
+EJ ����
� 4� ]�h�1� 3� 9� 18 . �r�_ �3��3� �"U2�3� 
+EJ �E�$�36 �E�"� -�����3� ������ E
� 
3� ������ E
� V3�X0? 0�
�� E�u��3��
��� .5J FE�� ��(�3� TU� %��$��"U2�3� 0�ES �J�
� 0�^t ����
�� 1�'2$ .  
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�� !���$ 1�� 4� O318 ���a� !�� �	� 1��2" m�"�`[ m�+���� � ��a�� + =E
� �	� E��
$ ���a
3 *�� b� �u�@
$ -
 ������ 0E{ ���a
3 *�� ias� -�"U2�3� =�_� ����
����(
�� 4� !�+h� ������� 4� 18 m�ZX�� -m�"�`[ m�+���� 

 ��a�+ . ��a
J -�
���3� ����^�	3 ���(3���+Xh�  TU� 
Z) k�`G3� +���XA�72 ( E�u��	3 kE�u� k�`[ +���� m�7"� M�
 V3�X0? 0�
�� C��3�) +��3� 1�
��"�+.(  

 4� !����3� �U� O3��" -�"�"�G�3� ��S�(3� 4��18M	" ��� m�"�`[ m�+����  :� � � � � � � + S0 S1 S2 S3 S4 S5 S6 S7 S8+ - 
 z�S *�@3� 0E{Si�� Q ]�h� b�3�  =�E12 . 4� ������� TU� >� ®Sa"�6 ���� +)  M�0 ( 1��@$ 1�	�$ ���($

 4�3 =�E�� 4� ���� 11 ����
�� =E
� (S2 S1 S0) �"U2�3� =�_� (S5 S4 S3) . ��a
3 
ZXh� ia�3� *�@3� �°�
$�Si 
 �"�`G3� Z����� ����©)8��S ( =�E�� Q13.  

  
 =�E��12   

 �2L- @��S0 US1U S2 US3 US4 US5)&W���� F�C" �	�$=�� F�=\ 4�)��:	*   

 F	(A]	* )&W���� F�C) 72 �	�$=2 ��A�8256V�'2A (  �	�$=�� F�=2
(bit/s) 

1 3 9 18 36 72 

3 200 + + – + + – + + – + – + + + – + – – + + – – + + + + – – + – + + – – – + 

4 800 + – + + + – + – + + – + + – + + – – + – + – + + + – + – + – + – + – – + 

6 400 + – – + + – + – – + – + + – – + – – + – – – + + + – – – + – + – – – – + 

8 000 – + + + + – – + + + – + – + + + – – – + + – + + – + + – + – – + + – – + 

9 600 – + – + + – – + – + – + – + – + – – – + – – + + – + – – + – – + – – – + 

12 800 – – + + + – N/A N/A N/A N/A N/A 

 =�E��13   
 �2L- @��S6 US7 US8 4�)��:	* �&)[��� +*	I�� �-��^\  

�&)[��� ��A	��3:� �-��_  
1 `R 18 19 `R 36 37 `R 54 55 `R 72 

+ + – + – + + – – – + + 

  

h� �"�`G3� Z���� v���3� 0E{ ]� ����© 1� Q(– – – – – – – +)  �@J !��3� *�@3� FE� ��@� !���Si��3��3�  . 4'| �U��
 ��
����3� >h m��W�Si �"E@$ ���� �	� 4�7�$ �	�
����  !�+� 4� +��3 ����J ��
���$ + ��� . >� +U
��� 4� 1
¡ �U��

���$ V�@
" +��3� £�� Q �"�`[ Z���� �
�� 4� !���$ iEj 4� !���$ �"�E� 4� F�(����� �Xw >�'� k� Q +��3� ��'���� !
18m�"�`[ m�+����  . 4� +��3� �	� ���`3� =�K" -�����3� �"�`G3� Z���� v���3� ��y !��� E"E{ 0�^t�°0 ]? °180 

2�3� =�_� -����
�� =E
t ��/a� �@"��� ��3��3� �
��3� �"�`G3� Z����� O��'$ 4'q z�� Z����� d��© 8���� �"U
�"�`G3� .M	" ��� �� �"�`G3� Z����	3 1��'3� !����3��:  

[rp] – – – – – – – + S0 S1 S2 S3 S4 S5 S6 S7 S8 + – – – – – – + S0 S1 S2 S3 S4 S5 S6 S7 S8 + 

– – – – – – – + S0 S1 S2 S3 S4 S5 S6 S7 S8 + – – – – – – – + S0 S1 S2 S3 S4 S5 S6 S7 S8 [rp] 

 z�S[rp] 1�q 103 V3�X0? 0�
�� E�u��3� 4� #��+ ) >�+����� 536 Q �t72� 0.(  
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4.1  )&W����" +�����  

��+E�3� �"U2$ �� �"U2�3� . Z�2$ *^S >�'"� -
+E�3� Z�2$ ��(@$ =��
���� m�7"� 
��2� 1XE3� ����
� 4� 
+EJ 1��

+E�3� �"U2�3 m�"���� 
+E�3� .��$ ¤ �"U2�3� =�_ IE� �	� E�� ����3� 4� ��3���� ��+E�� 1XE3� ����
� ���� 1

+����� . =�E�� R�"14� 0E� m�@J� 
+EJ 1'3 1XE3� ����
� ����"U2�3� =�_� ����
�� =E
�  . ~¡ V�� �WSa� +E¡�
 R� �	�� NE�"1XE3� ����
� 
+EJ " ����
� 
+EJ !�256 m�FKc 1'2$ o3� m�K�+  1'P 1�'2$ 4� ����
� 1$+ 4�

�c��� . 4� ����
�� =�$+� !� �"U2$� Z�2$ ���	�� ."�_ 4� 1XE3� ����
� 
+EJ 4� ����3� >��@$ ����256 -m�K�+ 
�"U2�3� =�_ 0E{ o3�.  

  
 =�E��14  

�	�$=�� F�=� ����. �	���	* �3��� �	�$=2 ,A�8 @^�  
)&W���� F�C"  

�CF	(A]	* )&W���� F 

1 3 9 18 36 72 

�	�$=�� F�=2
(bit/s) 

,A�8 ��� �3��� �	�$=2 �	�* ��- 

3 200 384 1 152 3 456 6 912 13 82427 648

4 800 576 1 728 5 184 10 36820 73641 472

6 400 768 2 304 6 912 13 82427 64855 296

8 000 960 2 880 8 640 17 28034 56069 120

9 600 1 152 3 456 10 36820 73641 47282 944

  
1.4.1  ,A���� �"�� a��)(  

*^H� £�� 4� �"U2$ 
+EJ 1X�0 Z�2$ 
+EJ 1� +U2$ . ����
�� 1$+ �"�E� .����" z�� ��+E�3� TU� 0�ES O[���$�
�� �"U2$ 0�ES !� V3�X0? 0�
" E�u� 1� ~@
" kU3� =�h� .�sas �	�" �"U2$ =��3 ���(3�� �U'�� =�$+� 4�7��� -=�$+� 


E�S� 1X0 ����
� 
+E�3 
��2�� ����3� !�D V3�X0? 0�
�� E�u��3� ~@
$ o3� ]�h� ia�3� ����
�� . K�+ >�'���
 ���h� ���3� ��+������ �"U2�3� 4� 
6�X��� ]�h� ���3� �� �"U2$ ����© 1� Q =�h� ����
�� 1$+ 4� =�h� ����
��

�3A0.  

2.4.1  ,A���� +��(  

 ���(@$ 1�
��$Full-tail-biting T+E� M��Ja$ Z�2$ =E
t ~�@��3�� 1/2 T+E� 
+EJ Z�2$ ����< 3/4 £�� V3�_ �	�" 
�"U2�3� =�_.  

3.4.1   F�=\ ���8L( +��(1/2  

 =E
t M��Ja$ Z�2$ 1�
��"1/2 E�@� =�_� 7~�@��3� 1��  . 1'23��26Z�2�	3 k+�[ ��� ��  . �"0�EH� �E3���
�± >a�
����:  
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 1'23�26  
 ��?2 F�C7 F�=\ ���8L( +��( U1/2  

  
  

 �J�&? 1'23� Q >A�h� ��	��3� �$E@� 1�� ��@�� ]?2 . UX�$ >� �	� -��2�� 4� >���� UX�$ -��2�� Q ��� 1X0 1'3�
 �	�h� ���� ���T1(X)mA�� -.  

1.3.4.1   b��/c* +��(Full-tail-bitting  

 ��2�� 1�)�" -1XE3� ����
� 4� 
+EJ 1� Z�2$ FE�3m�@���]�h� b�3� ����3� 1"�)��  UX� >�0 1XE3� ����
� 4� 
��X ����
� k� . �r��
��� 4'q z�� m����� ]�h� b�3� 1XE3� ���� ®�{�"�"���3 "��2�� . ��X >���� =�� UX�$


+E�3� Z�2$ 4� R�g�� >���� =�� ��
$� -�
���3� ���3� �SKS# E
� R$��2� . *�" -1X0 ����
� ��� �Xw Z�2$ ~@��
 ����
�� ���� b� =�� Z�2$"����}� ." ����3� Z�2$ 1�� ��2�� �SKS# 1^�� Z�`$ ~¡ A V�� �WSa� ~¡�


ZXh� !��3� ����3�� V�	� ~¡ k� -����}�1XE3� ����
� 4�  . b�3� ����
�� ���� Z�2$ *�"�"����}� " �u�SKSK�
b�3� iES�� F�E��� -I�Xh� �	$ 
ES�� ��2�� Q . ��� 1� �SKS# +E@� >�$��2� ��X R��� UX�� Z�2�3� ����" �U'��

����}� b�3� ����3� 4� . 
��P 4� �g�(3� ��/�u(3� ����3� M� 
��2�� ����3� TU�� �"+EJ)��@�� Zn .( -~�@��3� 1���
1XE3� ����	
� ���� 0E� O
& �"+E�3� 
��2	3 >�'�� . Z�2�3� 4� =�@��A� *�"1/2 8�	��� =E
�� ]? 3/4 =��+? 1�� 

�"U2�3� ]? ����3�.  

2.3.4.1   F�=� d�?9(3/4  

 
��P �	� =�G)	31/2 
��23� 4� 3/4 =��+�� ��2�� ~�@�$ ~¡ -�	�
���� ���� ias 1� 4� 
ES�� ��� . I�¡�
 ~�@�$ d�(� =��
���� ~�@��3�1 1 1 0 0 1��2�� 4� ���� ���� �	� .����  . Z2" 4"�E�3� �U� Q�1 �	� F�@�<� ]? 

� ���3�0���3� =��+? NE� ]? Z2$  .T+E�� ��2�� 4� E3��� !����3� �3�S Q�:  
T1(k), T2(k), T1(k + 1), T2(k + 1), T1(k + 2), T2(k + 2) ... 

<�=� $���%�>,��� $���%�
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1���� !����3� �	�":  
T1(k), T2(k), T1(k + 1), T1(k + 2) ... 

 E"E{�T1(0)� T2(0) 
�@�3� Q R�� �� ��� 
E3��� 
+E�3� Z�2$ Q R��� =�� �±+������ 1.4.2 ���� >�'$ -k ��
����3� Q 
 %�)[ 
0E
�� Ta�� 
+��U��3 .\ 
+E�3� 
��P ~@�$��"U2�	3 �r��+? 1�� �@"��3� TU.  

4.4.1  ,A���� )&W�( ���*  

 1GJ ��� !� �"U2�3� 
��J =aX >�'�<� +E@� ��@��� ��+E�3� Z�2�3 +���� ����3� 1G�3 *�G� 1�
���� ��+E�3� �"U2$
�"�E�3� Q �u7
� 4� m�Ec ��"�� b��� o3� ����	3 4'| .S ���� �"U2�3� ��(� >�'$ >� ~¡� Ec�$ z�30 ��	�y �����$ 

�"U2�3� =�_� ����
�� �AE
�.  

1.4.4.1  �	���	* )&W���� @^�  

 4� *��� -E
�3� E�S� O��[ 4� �"U2�3� O3��"0����3� 4� V�^S ]?  1– . �AE
� �	� O��G3� *^S O���"�
 =�E�� Q R�� �� ��� F��� ES �	� +����� �"U2�3� =�_� ����
��15.  

  
 =�E��15  

�	�$=�� F�=� ����. �	���	* )&W���� @^�  
)&W���� F�C"  

F	(A]	* )&W���� F�C 

1 3 9 18 36 72 

�	�$=�� F�=2
(bit/s) 

�	���	* )&W���� @^� 

3 200 512 1 536 4 608 9 216 18 43236 864

4 800 768 2 304 6 912 13 82427 64855 296

6 400 1 024 3 072 9 216 18 43236 86473 728

8 000 1 280 3 840 11 52023 04046 08092 160

9 600 1 536 4 608 13 82427 64855 296110 592

  
2.4.4.1  )&W���� ���e  

 1�)�$ !���� 4� m�FE� �"U2�3� O��[ Q ��@��� 
���3� 
��P ����0 . 4� ����
�� ��� 1� 1��{ !��� �	� =�GH� 4'q�
3� !���� ������ .���"�"U2�3� E"�K$ ���� " =�E�� Q 
+��U��16 ���@�� -"����3�� �"U2�3� *^H."  

 M� ��@��� 
+E�3� 
��23 ]�h� ���3� b��� �6?�B(0) 1�H� !��� �	� =�GH� 4'q -B(n)��3��3� �`�G3�� :  
 1�H� !���=) n* ��"U2�3� E"�K$ ����  ( ���@��)����3�� �"U2�3� *^S(  

 1c� 4��bit/s 3 200 ES�� 1$�� �"U2$� -) 4� *^S512 ��+E� 
0�"K� ��� 97 ( ���"U2$ v�² =�� 1��{ !���� >�'$
M� :0� 97� 194� 291� 388� 485� 70� 167.  
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 =�E��16  
)&W���� F�C" �	�$=�� F�=� ����. )&W���� �&�'( ����  

F	(A]	* )&W���� F�C 

1 3 9 18 36 72 

�	�$=�� F�=2
(bit/s) 

)&W���� �&�'( ���� 

3 200 97 229  805 1 393 3 281 6 985 

4 800 145 361 1 045 2 089 5 137 10 273

6 400 189 481 1 393 3 281 6 985 11 141

8 000 201 601 1 741 3 481 8 561 14 441

9 600 229 805 2 089 5 137 10 27317 329

  
�� *�@3� TU� b�@��� 
0E� ����'3 K�+ 1� Q ����3� !���� e�G�� ~�@��	3 ��	���� ��+�E3� >�'$ >� >��73 
E"�K�

�"U2$ ¬�(� 4'" ³ >��� �u��� M� -�r��
��� k+��� . ���� !���� 4�7�" �� ����� Q K�+ 1� >h -N�� ��h� �U��
"�"�� "�"���
&"l0h� ����
�� =E
� ���(3�� F�(����� - .2"� ���h� ���3� R� �� �����" kU3� -���3� >�'� ]? ���3� !��� Z

 �3A0MSB �3A0 1�h� ���3� ]? LSB#���3� 1��@$ Q - . !�D R� ���J 
Z�� ������ �J��� �u"E3 ��� M� !���� �"�� ���3��
 M� ���3� z�S -����'3� ��@�0 M� ��Ec��$ >�'� 4� ��@� 8���� 1 .� >�'$ -
0��� ���3�� �"�� ��� M� �3A0 ���h� ���3

���
73� ���3� M� �3A0 1�h� . >�E� �\ d#�$ o3� �@"��	3 m�@J� k����3�� ����3� TU� d#�$ A �"U2$ ��^�$����� 0�c��
N�W(3� Z� 4�� �7$ >� 4'q �"U2$.  

3.4.4.1  )&W���� A	�H�/�  

�_� ����
�� �AE
� !��� +�7)��A� !���$ �E�" !���� 4� �"U2�3� =0 !���� +�7)��� E"�K�"� �"U2�3� O��[ 4� 
 +�E@t1 .V�"�¢ �S� �"U2�3� O��[ �"�E� 4� ���� M�X +�7)��� �U��.  

5.1  ��	/)�� �:�.�(")*" ����[���� fg	���  

 �	�
���� �A���$��3� *W
� !� 1�
3�� V3 %���3 C�
3� ����
�� =E
� �c�� 1'P .�� *��[ =��
��a3 �������
 �"����'"E3� ��c����)(HF . 
#��S V3�X0? 0�
�� E�u��3� 1u�"�)
#��S 
0��? �� (k+�c k�"0�+ =��+? . 4� �Eu��"�

 8�	��� Z�2�3� =��
���� -�"U2�3� =��3 !���3� IE��� -=��3� 
ZG� �(��K�� E�u�full-tail-bitting =�
J 1�`2$ Z��$ 
	_ �A���$��3h� +��'�3� ~� ����$ARQ . N0��� ]? O�&� -�A���$��3� TU� 1�`2$ R�)�3�HF e/�G�� 

��3��3� ��	�`2�3�.  

1.5.1  F	/AE� �&��*  

 =aX =��+<� N0��� �E�"ms 100 �	��� 1X0 ����
� 
+EJ V�@	�3 ��3��3� )
+U2�� 
��2� 
+EJ F1� ����3� 4� M�'" ��( -
Xw =��@��� 0�^t ��mA�� iEj ��u"� -1X0 ����
� ��� � . 4� �G�� �3���3� >�'$ ��E(� �@J 
ZXh� iE{ >� 4'q�

�"U2�3� 
+EJ . 1��}� �X��3� E
� �c��� 1'P E�u� ��X V�@
" -k�"0��3� ;���<�� =��+<� �E�" -O"�
�3� z�S 4��
Ec�� >? -;���L3 .���3�.  
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��" kU3� b��3� R� �X��3� O���"� *�	�$ 1/��� �	� E�
� ES ]? =��+<� �"�E�� ]�h� 1XE3� ����
� ��� N0��� V�J 1�@
N0��� ]? 1XE3� ����
� ���� .ZX�$ ���� K����� 1�
���� ����
� =E
� E(� 4��K��� 1�	���� ���3� %��3�� . �Ur�

A ��� %�� =��
��� 8�G���� 4� >�J ~��3�  ����3� C�� ���K$)b���s? U�(� �� 1�	��� ( �6? .JE�3� Q *')�3� !�
��@����3� p
� Q .	@	3 m�Z�� Zs��3� �U� >��.  

2.5.1  ��	/)�� �&	h  

 �3���3� �"�¢ =��
���(EOM)1�'2�	3 1��� +��X �� �	���� 
+�P<� Q  . �"�¢ ��y .J�" -�� �3��+ �"�¢ +���X� E(�
 4� �3��+32�
� ��� �X´� ��� �3���3� 1X0 ��� . �� k�2� ��� K����� �u(� �
" -�3���3� �"�¢�4B65A5B2 z�S -

=�h� N�@�� Q +���3� �	� ��� �G�� 1��$ . Q �����3� ����3� !c�$ -����
�� 1X0 
+EJ �3���3� �"�¢ Q ��� �Xw «� ³ �6?�

+E�3� �"U2$� Z�2$ 1�� ��G3� ]? ����
�� 1X0 
+EJ.  

 �6?� Q ��@���� ����3� !c�$ -�� 1X0 ����
� 
+EJ 1XE3� ����
� Q ��� �Xw «� ³ �6?� -�3���3� �"�¢ =��
��� %��

+E�3� �"U2$� Z�2$ 1�� ��G3� ]? 1XE3� ����
� 
+EJ . ��E(� �@J �� �3��+ �"�¢ =��
��� %�'" >� !����� 4��

 ����$�h� +��'�3� ~	_ =���$��� 1�
��"(ARQ) 
+EJ ARQ 1��'3�� «� )~"�@�3� Vc� �	� �� ( ����
� 
+EJ *^S
 1XE3�)�"U2�3� 
+EJ .( TU� Q ��J�&? �"U2$ 
+EJ =��+? �3���3� �"�¢ =��
��� ~	��" >� 4'q -��[��� TU� >�E��
���W3�.  

3.5.1  	2 F	/AR �	hR  


ZXh� ����
�� 1$+ =��+? E
� =��+<� N0��� Mu(" >� ~¡ �"U2�3� 
+E�� ��$�� -k�`[ +���� 536 Q �t -�@J 
M/�u(3� . 4� ����
� 
+EJ 4� O3��" �� ����
� 1$+ >� �WSa� +E¡�256k�`[ +���� �u�@
" m�K�+  . m�7"� M`�(" ���

� 
+�P<� ���
� Q �X��3� =���S� 
�����/k����'"E3� 1���� N0�� Q ��P�� ."�_ 4� �	XE�� 
+�P<� �� (HF))  FK^�
������� �X ����� b���$ 4� (1���� F��_? 1�� 1��'3�� M/�u(3� k�`G3� +����� =��+? >��73.  

4.5.1  ���?�I�� �	�$=�� �Q	=2 �	hR  

 8�	�� ]? 
0�
3�� -����
�� d�c���A �	�@���� ��+�P<� ���
� O��$ Q ~���$ >� 4'q o3� i�ESh� 4� 0E� ¬�(�
����A�8 .����
�� Z�2$� O2� V�J =��j kU3� b��3� Q E"Ec =��+? 8����� �	� +0�� Zn N0��� >h �"+��& M��.  

1.4.5.1  ��	/)�� �&	h 7- a����  

 �"����'"E3� ���(@3� N0�� N�@" >� ~¡(HF) �3���3� 4� m��� 
��2�� ����3� !�D %�t m��/�0 EOM 4� 32 
+��U�� ��� 
 Q2.5.1 . 8�	�� ]? N0��� 0�
�� -�3���3� �"�¢ 4� O2'3� 0�^t�8����A� . ����3� *�	�$ N0��� 1[��" >� ~¡�

 1�
���� ]? 
��2��(DTE)�3���3� �"�¢ 
�P��� .��$ o3� 
ZXh� ���3� *�	�$ *�" >� ]? .  

2.4.5.1  �	�$=�� ��A�8 72 ��i ��- F	�?�/�  

@�� �3���	3 I�G@3� 
E�� ����
� ��+EJ 0E
� ���1XE3�) �"U2�3� ��+EJ (1�'2�	3 �	��� ��	
� . E(� ��	
�� TU� !&��
0E� Zn 0E� =��@��� 4'q V�� �
" ��G3� . 1�
���� ]? V��	�$� N0��� Z�2$ 0�^t�(DTE) ����3� 0E� 0�
" >� ~¡ -

"E3� ��c��� N0��� -�	'2�� �3���	3 I�G@3� 
E�	3 �	��@�� �"����'(HF) 8�	�� ]? 8����A� 
��2�� ����3� *�	�$ �u("� 
 1�
���� ]?(DTE) . =���$��3 4'q�ARQ ��#+ >�'$ z�S -1XE3� ����
� ��+EJ 4� 0E� 0E
� 1�`2�3� +��f >� 

ARQ
Z`�� +�2��� ���� 8�
���A m����S� Z`�$ �� -
0E�  .� 1��$ >� !����� 4� -�3�H� TU� Q� ��	
�� TU) I�G@3� 
E��
�3���	3 ( =���$��� 4� FK^� �	[�3� =��@��� ��_ ]?ARQ . ���3� %��3� ."�_ 4� =��@��A� N0�� ]? 536 E
� 1��$ ¤

�"U2�3� =�_� ����
�� �AE
� ���	
� £'� �	� �u��� 
+�P<� Q �+E� Zn V�� ]? m��W� E
� 4� *')�	3.  
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6.1  ���]� ,A�?2  

��
$U� Q C�� ����
� =E
� 8�	�h F�0h� 
+E@� �FK��  . ���s�� �@"��� 1�
" N0��� >� ��+���XA� TU� Y/��� R�$�
 �"����'"E3� ��c��� ��+�0 �	�(HF)
����� ���(@3� ���¥� O2'3 .  

1.6.1  �.	j� fg	�3  

 M��� =��
���� C�
3� ����
�� =E
� +���X� ,HF�y M���� ;���  d��� ��[��3 m�@J� >����"� �6��(3 m�
�$ �
 �"�"0��3� �A�G$A�F.1487 .���n F�&�& 1�
��� F�&�7	3 +EG���� F�7�� ��J�&? (AWGN) 
+�P<� 
+E� ���� ,� 

 T+E� ;��� ��� Q F�&�73��kHz 3.  

2.6.1  B�&��A ��)( ,	�� k	D)2  

��� ���	��� £'
" ��u�(� 00�$ ���^��� ��P�� 1�
���k�"0��3� �"���3� ; . #��_ 4� ��P����63 = N ��3��3� �a��
��� 
)1��� ]? �	�� 4� ¤ -R��3� ]? +���3� 4� 
F��@3� ( 4� ��(�� =E
��16 000�(�� /s.  
  

3,4793306E-04 –4,6615634E-05 3,6863006E-05 6,8983925E-04 

1,2186785E-03  7,1322870E-04 –6,2685051E-04 –1,1305640E-03 

3,8082659E-04 2,2257954E-03 1,0150929E-03 –3,6258003E-03 

–6,9094691E-03 –4,2534569E-03 1,1371180E-03 –1,0868903E-04 

–1,1312117E-02 –2,2036370E-02 –1,8856425E-02 –4,9115933E-03 

–1,3025356E-03 –2,1579735E-02 –4,8379221E-02 –4,8040411E-02 

–1,4815010E-02 9,8565688E-03 –2,0275153E-02 –9,0223589E-02 

–1,1587973E-01 –2,2672007E-02 1,6315786E-01 3,1537800E-01 

3,1537800E-01 1,6315786E-01 –2,2672007E-02 –1,1587973E-01 

–9,0223589E-02 –2,0275153E-02 9,8565688E-03 –1,4815010E-02 

–4,8040411E-02 –4,8379221E-02 –2,1579735E-02 –1,3025356E-03 

–4,9115933E-03 –1,8856425E-02 –2,2036370E-02 –1,1312117E-02 

–1,0868903E-04 1,1371180E-03 –4,2534569E-03 –6,9094691E-03 

–3,6258003E-03 1,0150929E-03 2,2257954E-03 3,8082659E-04 

–1,1305640E-03 –6,2685051E-04 7,1322870E-04 1,2186785E-03 

6,8983925E-04 3,6863006E-05 –4,6615634E-05 3,4793306E-04 

  

3.6.1   �	���� � c$�� ��I� ���6(BER) 

 -k�"0�+ 00�$ ��P�� =��
���� ����3� Q ���� ���� ���� ,]? ���(� M��� ~��c HF ��3��3� ���(@3� K�H Y��� 
 ��+E� ����3� Q ��X ���(�4–

10 × 1:  
�  ���n F�&�& 
�(�� F�7�� ��J�&? (AWGN)��X >�E� E�S� Z�� 4� O3��$  . 
E� �3�S 1� ���� ,�15�@��0 .  
�   
�(�Rician4"Z�� 4� O3��$  !� -�"����� ������ 
+E@� 4'3� R	@��� ZX�$ R� 4"Z��� T+E� ms 2 .

��X >�E� >�� =�h� Z���� .�� !� M	"�+ ��  Z�� v��3�� ���	X �cBW� R(s� 4� ���	3 � ��`Hz 2 . ,�
 �3�S 1� ����R���� 
E�.  
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�   �"�"0��3� �A�G$A� d��� ��[�$ QF.1487 -"������ ��
3� �X Q 8��7�� +�2��A� ����")  
�(@3�
����3� (4"Z�� 4� O3��$��� R� b��s ZX�$ !� -�"���� ������ 
+E@� 4'3� M	"�+ ��  R	@���  T+E� 4"Z
ms 2 !� -��X ���	X �c�� BW 4� 2� � ��`Hz 1 .R���� 
E� �3�S 1� ���� ,�.  
 =�E�� R�"�17 I�G� �"U2$ 
��J =��
���� -��@�� F�0h� ) �"U2$"�"�`	3 1"�_ "72ma$+  ( 
0+��3� �A�H� 4� �3�S 1'3

 ��+E� F�0h� Q ��X ���� Q4–
10 × 1
��2� .  

  
 =�E��17 

3� 	lA�� �	���� � c$3 ��I�* m	=�� �	�$=�� F�=2 b��/6 � ���]� @��?�� A	��4–
10 × 1  

 �	
���� `R ,A	DE� F�=2 #/��2(dB) 	lA�� �	���� � c$3 ��I� 4–
10 × 1 �	�$=2 F�=2 

��=�I�� 

(bit/s) 

 �	
�
 ,	���/�0�  
�	��* ��8	
R AWGN 

 ,	��Riciah �n�/ ,	��  
(1)
12 800 27 – – 

9 600 21 30 30 

8 000 19 25 26 

6 400 16 21 23 

4 800 13 17 20 

3 200 9 12 14 

(1)
 '������ ����!� "
!�  

  
4.6.1  �&)�*"��� ���>E� ���6  

 1�h� �	� ./��0 £� 
E� �(��K� �	� �@��� N0��� ~���� �"�	��E3� �S�#<� F�0� ����(3 �GG��� ��+���XA� F��c? F�(s�
�C��3� �)(3� �	� �uG/�GX b��� +���X� 
+�P? ! :bit/s 9 600 O3���� 00�$� -�"�`	3 1"�_ �"U2$� -Hz 75 ± b��� -

 +�2��A�ms 2 T+E� ���	�� �c��� ��X� -Hz 1 T+E�� F�&�73� ]? 
+�P<� =E
� ������ -dB 30.  

7.1  ���	���� �:	�(:� ��'�So  

 ������QAM �U� Q �J�[���  +��3� �SKSK� ;���<� ������ 4� ��K�u^�3� Z`�3 �����S ���� .)	��PSK 
��[��3� TU� 4� I�X� 4���� Q �J�[��� . �	� m�Z�� m��s� k�"0��3� 00��3� 
�(� ��P�� >�'�� -�����H� TU� ~����

C�
3� ����
�� =E
� ��c�� =�'P� U�($ o3� ���0��� TU� F�0� ����� .�J�&<�� �����S �"�� �
���3 m��W�� -536 ]? 
 ������QAM k0�" >� 4'q -b���� =�
P<� �s�� -AGC� ALCF�0h� Q �3�� ���¥� ]? .  

  
����������  
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